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Muwpnpuyltph Quwiiwli hwiwp oqumugnpoynmd GG mwpptp tnu-
(wyGtp W qnpohpltip, npnlg pGwnpnipniln yuwujwo & ywuwpnipuyh mbuw-
Uhg, swihtphg, dywlynn dwibtplnygph npuwyhl b gwihtphl Geplujwgyng
Gyunipjuwl wwhwGolGtinhg L wyG:

‘Lwhiwywunpuwunywoplbtph Jypw wuwpnipuylbiph vnwgnd@ hpw-
gnpoynud k, hhdGuwwlnud, hnlyw) tnubGuwyitpny

1) wwpnipuwyh wpnphih dlwdnpouip Yupnn gnpohpny,

2) yupnipuwyh wpndphih dLwgnpouip wpnwdqihy qnpohpnd,

3) wwpnipuwyh ypndhih dlwynpnuip gpuGuiwb gnpohpny:

MuwpmpuyGbph Yywynudp yupdwl tnubiuyng ppupyuiugymud b ywu-
pnipuwuwhwGdwG YuphsGipnyg, vwpbpny, GipyupnipuyhsGtpny, wpnw-
wwnpnipwlhyGtpny, ywpnipuwhwidwl qiupybtpng, yupnipujuwhwi-
dw pptiqlGtinny, hnupwnptipny:

GuphsGtpny U vwlpbpny wwpnipuwwhwlnuip juyl mwpwond L
qunti] fuwnwunwjhl wynniwwmbbph ypw' thnpp fudpwpwlwyh Gwuwwywmn-
pwunywopltinh Wuwlydwl ntypnud: UwGbylGtph L Gwuwwyuwnpuun-
Jwopltinh vk GupphlG wywpnipwybtph dQwyiwl hwdwp qwjG mwpuwond
Ll quby GhpyuwpnipuyhsGtpp, npnGp Yhpwnynd G0 dwGbiudiywlydwi L



wyunndwwnm hwunnglGtipmy: QGwjwo npnpwlh ptpnipjniGGaphG wpnw-
nnnipjw vk9, 2Gnphhy hptig hwiwwhwmwlhnipjw, tdwlnpjul b pwhw-
gnpodwl wupgnipjwl, wpmwphl wuwpnipuyltph Gwiiwl hwdwp wyl
nwpwond GG gt wpnuwwwnpnipwyhsGepn:

Nupnpwluwiywlnn qifuhybtipp, npnlp oqumuwgnpoynd Gl Ghpphl L
wpunwphl wwpnpwlyGtph Quiyiwl hwdwp, wjp gnpohpltiph hwitdwwn
niGtl vh wpp wnwytinipymGGtpn, vww)l whwgnpoiwl wntuwltinhg
pwpn tG:

Nuwpnipuwipwynn $ptqlpl oqumugnpoynd GG wpumwphl L Ghp-
phG upwGlyynG L ubnuwGwdl wypndhiGipny yupnipuyibph Quliwi hw-
dwn L wywhnynd 6 Gywliwl pupdp wpnwnpnpujw nepyniG:

Mupnpuuwhnynuip (wjG mwpwond t quty 2Gnphhy wyG pwGh, np
wwwhnynd £ dwyynn wywpnipwyh swithh L dwybplnyph dwppnipjnid
pwndp GumpniG: Unynpwpwp wju tnubuyny GG uliymd Gl hnd,
tujwo Gwuwyuwumpuwumywoph ypw ywpnipuwyGpn:

Upunwdqivub tnuGwyny ywpnipuwybtph dluwynpniudp pGnipugpynid
L Gpwlny, np w2luwwnwlph plpwgpnd wnwowlnid Gl dto pthiwb nidbp,
pwh np Gwhiwywunpwunywopnp b gnpohpp wfuwwmnid GG nputu wnwlg
puwgwyh uwhnn qnuyq: Uju tnuGuwyny wpfuwmnid GG wnwlg wwpbtnujhl
wlnup GipyuwpnipuyhsGpp L wpunwphG ywpnipuytph Quydwb hwjw-
pnyh wpnwdqidwl wpmwywpnipuyhsGepn:

Muwpnpuyltph dlwynpiwl@ wowownbld tnuwlwlyltphg & hnnyuy-
(Gtpny L wpnwwwpnipuyhyGtipny gpuuyiwip ywpnipwlyibph vnwgni-
in: Gpunlwlnuip nwppbpdmd L wpnwdqinushg Gpwlng, np qnpohpp L
(wuwwywwnpuwunywopp Juquinwd GG ny pt vwhnn, wyp gunpiw qniyq, nph
htnmlwlpny qquhnptlG thnppwlnid GG thdwl nidbpp: Uyn qnpohpltnhg
L6 yupnipuuwgpuGuwlydwl hnnguwyGtpp, hwpp gpubGuyltpp, ywpnipw-
YugpuGwlydwh gfupyGtpp:

6.1 Mupnpuljuirwldwi Yunphsitp L uwlpnb

Mupmpulyuwipwliwl YuphsGipp Gwuwnmbujwo GG wmwpptp wpn-
dhGtph (upuGyyniG, vbnubwal, nnnublyniG) wpmwphG L GepphG wwpni-
puwyltph Yywliwl hwdwp: Cun Junniguwoph jhGnmd GG dnnujhG
(GY. 6.1w), yphquwal (GY. 6.1p) L Ynp (GY. 6.1q):



9)

LY. 6.1. Mwpnipwljwjht Yuppghtp

UoJwo YuphsGtipp pinipwgpynid GG Gpulnyg, np wuwpmpuwyh ybpe-
Guwywd dluynpiwl wywhhG Gpulg Yuwpnn bgpp qubGynd £ yqupnmipuih
wyunninwluwjhlG dwitplnyph ypw:

Mupmpuui)uyiwb dnnquwjhG uphsGhpp Gdwb GG unynpujwb fuw-
nwwwjhG YuppshG: ‘bpwlg qifiupyh dwub niGh npnpwlp db L Yupnn tqph
alp hwiwywwmwuuwind L dyuynn wupnpwyh wypndhihG:

Muwpnipwh pwpdpugdw wiljub (z < 3...4°) thnpp wpdbph nhiypnud
Yuiphyp mtnuyuwjpynd L wjlubu, np Gpuw wypndhth wnwlgpp (hGh ninnu-
hwjwg G(whwwywunpwunjwoph wnwlgphl: Ywuphsh Ynnuyhl Yupnn
tgptipp Gwhiwwwumpwunywoph htn pthymd GG thnpp wmbnudwuny b
quymd t6 hwiwpyw GnyG Jupdwl wywidwbliopnd: Fpw hwdwp Yn-
nwjhG Ywpnn Gqptiph ypw httnhG o, b a, wilynGatpp ytipgynwd GG GniyyGp
(whGwlul Buliwl hwiwn' 4...6°, ytipgGuiywljiwl hwiwnp' 8...10°:

Uuphsh ququpmu htnpl ¢ wilynilp ypgynd L 15...20°: Mwpnipwyh
pwpdpwgiwl whlyywb (r > 3..4°) ko wpdtph nhypmd Yuphyp Guiuw-
wwunpwunywoph wnwlgph Guumdiwdp mnuyuwynd k pipqwo’ 7 wllyjw
sqwthmf: UWyu nhwpmd  Ywphgh  YnnughG Ywpnn  bGgptiph Jpuw htnhG
a; la, wmyymGGatpp ytipgymd GG mwppbp’ jupdwl hwjwuwnp yuwyjdwGGtp
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wuywhnytynt Gywwumwyny: Gunphsh Yupnn hwnynpjmGGtph htipn Ytpw-
Julqiiwbtn Guuumwyny wnolh vy wdlymnilp ytipgynd £ hujuuwn 0°-h:

Uju YuphsGpp upmiGtph pwqiwih hGwpwynpnipynb 66 wnwihu,
pwgh wyn, Gpulg upnuip L mtnwiwynuip pujuywlihG w)uwnwmwnp t:

UntwG L mbnuyuw w6 gnpoplGpugh htpnmugiwl Gywwmwlny oquw-
gnpoynud GG wwpnipuuwiywliwli wyphquiwdl dlwynp Yuphsltp, npnlg
upnilG hpwywlGwgymd Lt dhwjl wn9lh Ghuwnny, hul mtnuywjnuip Ju-
wmwpynd £ hwnmly) hwpdwpwlpmd, np wywhnymd £ hwunwnndG
a = 15°htimhG whlyniG: Unplh wGljmbp y = 0°:

NMuunpwunmdwl mbuwytnhg wybih qupgq &6 upnpujuwdwydwd
Unp dlwynp YuphyGtpp, npnGg mbtnuuwynuip juunmwpymd £ hwunndy hwp-
dwpwlph vt9, L Yuinhyp upynid £ dhwjl wnolh Ghumny: Uju YuphsGuph
wnwybnipjnitGG wyl £, np npwlp Juptih £ upl) puqiwlh wiquuGhp:

UunpyGpny wupnipuyGiph dQuyniG ppugnpoynid t vh pwlh wi-
gmuiGtipny: UGgnuiGtph pyh GJugtigdwb L wpnuwnpnpuyunipjul pupd-
pugdwl Gyuunmwyny Jhpwunynd b6 wqupnipujuiywldwl vwlptp, npnlp
Yppuwnymd GG thnpp puwyiny  thwthmly  Gynptph Jpw wwpnipuyGeph
dwdwl hwdwnp: Mupnipujuiywliwi juphsGipph Gdwl yupnipuyw-
Upwldwl uwbpbpp (hGnd GG dnqughG (GY. 6.2w), yphquwal (GY. 6.2p) L
Ynp (GY. 6.2q):

w) ()] Q)
LY. 6.2. Mwpnipuljui)wldwb uwlpbp

Uwlnph Yupnn /; Swup yuwmpuuuynidt ¢ =25...30° phpnipjwip: pu
2Gnphphy hwGynn pnnGuopn pwiupymu k uwlph 2-3 wnwdGtph thol, npp
pny L nwhu GJuqgtiglty wignuiGtph phy Juupiwl dwdwGwly: Uwlpp
wnpwiwywhnn dwup (4...6) wnwd Gwuwnbujwo L yupnipuyh dwuppdwd
hwiwn:



Uytih ubo mwpwond nilGhG Ynp vwlpbpp, npnlg ywwunpwumnuin
htipun E, L npup pnyp GG mwihu dGo pyny upndGhp:

Ynp vwlptpp unynpuwpwp Gwuwgqoynid Gl wumninwlwjhl quwnp-
Gtpny, npnGg pwpdépwgdwl whyniGp hwyjwuwp £ Guwlynn wupnipuwyh
puwpdpwgiwl whlywlp: Nwpnipuwyh thnpp pwpépuwgiwl wiyywl nbwy-
pnd UhwjG vwlpl wpymd b onwyGtpny: Lwjuwwwwmpwumywoph Ypw
wnpunwphl we wupnipwih Ypwldwl hwiwp oqunuagnpoynud Gl dwfu wyw-
pnipwyny vwGpbp, huy wpmwphl dwhn yupnmpwyh duydwl hwiwp' we
wuwpnipwny vwbptip: dpw pGnphhy vwlph YnnuyhlG wnwdlbph ypw hb-
whG whlyynmGp innwynpuytiv uvnwgynmd t GnyyGp: MununwluwjhG htnhG
dwltplnyp niGtignn vwlptpl wwywhnynud 66 Yupdwl £ wybih jwy wwy-
dwltp L htipn GG uwunpwuwnynid:

6.2 Ltinwwnninwyhs Gty

‘LhpywpnipuypsGipp Gwhiwwmbujwo GG wlgptpnid wwpnipuyGhp
dywytnt hwiwn: Cun oquuugnpoiwl L junnigywoph hGnwd Ga.
1) Qtinph” dtinpny wwpnipuyltp Wwybnt hwdwn: pulp unynpupwn
dtily, tpynt Jud tptip hwwn 66" d&Y (pujuqih de:
2) UtiptiGuyjwlul’ hwunngh ypw yuwpnipuyGhp dyuytnt hwdwp:
3) UwblwjhG dwibjuiywliwG hwunmngh ypuw dwlbyGhph dbe wu-
poipuyGhp Ypwybne hwdwp:
4) UpnwwwpnipuuwjhG L dwwnwjhG wpnmwwywpnipuyhyGepnd ww-
poipuy Ghp dauybnt b mpuwdwswihtine hwdiwn:
S) unnqnyujuwjhG funpnjuyGbpnid L YgnpphgGipmid funnnyuyughG
wuwnnipwlibp Wywltnt hwdiwp:
6) UnGulwi’ ynGulwl yupnipwlitp Bywybmnt hwdwp:
7) Qujupnyh Yuwpquunpng L sywpquuinpynn Yunnigduopny Gipph
wwnpnipwyGtpp Gyuwydwb qiiupyGbp:
8) {wnmy YndphGugyud (qujhynG-Ghipyuwpnipuyhy), wumhdwGuop
L wyG:
‘Utipywnpnipuwyhsh mbuwyh pGupnpjul dwudwiwy hwpyh G6 welynd
wuwpnipwih suthtpp b Gpu @punnmipjnilp, wigph mbuwyp (funiy, wlgnnhy),
(whwwywnpwunywoph Gynpp L wpnwnpnipjwl ywydwGatpn:
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LY. 6.3. Lhipwywpnipwljhsh jurmgywopn



Qpulp GG 1 Yupnn dwup, 2 mpudwswing dwup, 3 wynywdwup 4
wipwgynn dwuny, 5 wnwiGbph pwiwyp, wnwdh L 6 wynuh dup L npulg
ninnnipjnilp, upnn L mpwdwswthnn dwubiph Gpypuswthwluwl mwpptpp,
(tpujuwpnipuihsh wwpnipuyh wpndhip b Gpu swhbpp:

Lhpwwpnipuhsh Yupnn dwuep Gpue Jupbnp unnigjwopwjhl
wnwnpp k, pwGh np Juunwpnd E yuwpnipuih ypndhih dpuydwl hhiGuwlyw b
wofuwwmwbpn (GY. 6.4): Gupiwl wyfuwmwlpl wnwGdha v6o pyny Yuwphs-
Gtpp Yypw puwppubnt Guuwumwyny, Ghipuupnipuyhsh Yupnn dwup dlw-
Unpynud £ YnGh mbupny” Gipyupnipuyhsh wnwlgph Guwumdwdp YnGh oGhsh
¢ wilywl ptipmpjudp:

Ly
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h
e
t

7 2L
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b

o

N Lbipwwpnipwlh;

Ul 6.4. Uipywpnipwlhsh Yuipnn Swuh wwppbiph npnpnudp

Uwnpnn dwuh GpupnpmniGG wgnmd £ @uwiiwl wprnunponnuiju-
(impjwl, qnpohph YuwjniGnipjwl L dywlyynn wuwpnipwlh Qumpjul Ypw:
‘Utipyuwpnipuyhgh Yupnn dwup jnipupwlyynip thimnipph (wunwdh) Ynnidhg
hwlqwo tpnp quwjGuwyh hwwnypp Jupbh b Gplujwgll] ¢ hwuwnn-
pjwip L b qujlnipjudp utnuGh mbupny: ¢ wiljwl thnpp wpdtph nhypnid
Jupbih t a’'-p hinfuwphGly] @-ny (a-G Ghipuyyupnipuyhsh wowlgphl ninnu-
hwjwg hwppnipjul vke hwlynn ptipnh hwunnipyniGa t), npp hwyynud L
htinlyw) tnuGuyny’ a'= acosy :

‘Lnpdwy updwl wguwpdwilGbph ghypnd fupnn dwuh wdpnng Gpyu-
pnipjwl Yypw hwGynn p2tpnp hwuwmnipynilp WGmd E GngyGp, npp hwpyymad |
htunlywy pwGwdlny (6.1).



a2z (6.1)

n
npntn’ - z2-p Yupnn GpupnipjuG ypa uphsGtph phyG ,
A Gipuyupnipuihsh Ynndhg dawlynn wwpnipuyh wunwgh
pwpdpnipniGG t, nph wpdtipp npnpymd B 2=/, tgep,
npwntin /x5 -G upnn dwup Eptpmpy (wpryniGupup) tphuwpnipmniGa k
L npp npnynud L.
s d-d,
R 2tgp '
npuntin d-G GEpyuwnpnipuyhsh wpunwphl mpudiwqhod k,
d,, -G wlgph GuwhuGwlwl mpudwghon:
Muwpmpwyh wpndhp  dlunfnpnn wwuniGhph phjp Yupnn - dwuh
wpnyniGupun Gplupmpjul dpu npnpymd B 7 = [y z/p, npntin zp Ghpuu-
pnipuyhsh wnwdGbph (nwzbtnuyhl wynuGeph) phyG b, p-G° ywpnipuyh
puyn: Lhnbwpwnp’

(6.2)

_rtee. (6.3)

z

Pwlwdlhg httmlmy £, np hw6ynn ptpnh hwunnipyniGp juuduo
wwpnipuh pwjihg, thwnipGlph (wwztnuyht wynuGtiph) pyhg b Yupng
dwuh ptipdwG ¢ wilynilGhg:

a

‘Utpwyuwpnipuyhsh weelh dwjwwmwjhl dwuh dy; mpudwaghop yYtipg-
ynud k dpwlynn whgph d, mpuwdwqohg 0,1...0,35 4 swthny thnpn, npytiugh
wwwhnyyh Ghipyupnipupsh nipnnpjud Ghipfupnuip Buiypiwl tipulu
wlgph k9 npnpwlh m swthny:

CanmGymy £t m = f [, npntn’ /= 0,30...0,18" 2..30 4 mpuiwqony
(tpuuwnpnipwyhsGtph hwdiwn:

Unolh dwwwnwhl dwuntd mpudwaqhop npnpynid k.

de=d, —2mtgp=d, —2fLtgep, (6.4)
huy Yupnn dwuh Gpuwpnipjnln’
hh=(d—dg)/2tgp=(d —du)/2tgp (1 = /), (6.5)

npuntn’ d-G Ghipyuwpnipwhsh wpnwphG mpudwghoG k:
Uwnpnn dwuh plipdwG ¢ whlyniGp myjwy suthh Ghpuyuwpnipuyhsh hw-
dwn npnpynd |’ tgp = a z/p: Unynpuwpwp ndjw) mbuwyh Ghpuyyupnipuyhsh



hwdwp ¢-G Yytpgynd £ hwunmwwmniG (ophGuy’ dwibliwjhG Ghpuyupnipu-
YhsGtph hwdwn' ¢ = 3°30'):
¢ wllyynbp thnppwglbtjhu thnppwlnmd L hwlynn ptpnh ¢ hwuwnnt-
pjnlp L vhowlmyd GEpyuwnpnipwyhsh uyniGmpniGp: Uwlw)l a<0,015 dif
hwunmpjuwl phypmd jupdwl gnpoplpugn ndwpulnd t, GnyGhuly
nunind wihGuphl. Yupiwl thnfuupbl wmtnp £ mGEGnd mpnpnud, npp
pugwuwpwn L wgnmu qnpohph juyniGnipyjul ypw: Nunp hwlynn 2tpumhp
hwummpynGp sytnp E thnpp (hGh Gepywpmpuyhsh Yupnn Ggph Ynpug-
dwl Jwnwynhg, npl wpuwquwhwwm wynnuuwltphg uumpwunyjwo qnpohp-
Gtph Yupnn & quqdty 0,015 i Uyuyhuny, hwynn 2tpumph hwuwmnipyniln
Jtipgynwi £ 0,02..0,15 ¢ vwhdwlmy: Uytih dto wpdtipliph nbhwpnid
Juinnty yuunwlnd £ dyulyynn dwitplngph dwppnipjnln:
Ugynunuly 6.1

Zwlyny Upwljynn Gynipp

ud
2tpup o UynidhGh

hwuwnnt- Mnnuyuwn ny ulf;flulwﬁl?l’ hwdwaniy-
wnhwnw

pjniln, duf Juop
hwdwanijwop

a 0,02...0,05 0,04..0,07 0,015...0,02 0,05...0,06

Unynuuwy 6.1-mud pipJwo GG a-h wpdtipGtpp’ jujugwo dywyynn Gyniphg:

Uwnpnn dwuh /; tpupmpyniGn yepgyma £ Juhugwe wlgph dLhg (funy,
wlgnnhly), Ghipyupmpuypsh mbuwyhg WhptGwjwlywb, dwikhwjhb), pu-
Juqdh dbe uwlnn Gpywpnipuyhsh hwdwphg: OphlGwy dhphGwjwuywd
(tpuyupnipwyhsGph dnun funi wlgptinh 4t ywpnipuwyGtinh duwlydwl nhiy-
pnid Yupnn dwuh GpupmpiniGp yuqimd £ 4 =2p, tptp hwwnwGh jpu-
Juquiny GhpwwpnipuyhsGiph wowehlG hwdwphbp' /; = 6p, tpypnpn hwdw-
phip’ /; = 4p, tppnpn hwdwphGp' /; = 2p:

‘Lhpyuwpnipwphsh dhyun wpuwwmwlph hwdwp wihpwdtyn b, np Gpw
thtinnipGtpp 2powlwqony wmbnwpwujwo 1hatG hwjwuwpwswih L thwi-
dwl onopwyywo: Uko huthngGhiph wnuwynpjul ntuypmd jnipupwlsnip
Jupnn mwpph ypw vnwgynud £ wlhwjuwuwnpwswth dwlpwptnGjuonipym,
nnlG wannud L Qwlidiwb d)umnipjub ypw: Unglh L htinmhG dwbtplngpltnny
upnithg httn wpunwphlG mpuwdiwaqony dhptlGwjwlwl GipuuwpnipwyhsGtph
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Yupnn dwuh wnwdGhph futhngp swtinp L gipuwqutgh 30...40 d4d; hul dw-
GtYwjhG GepyupmpuyhyGbphGp 50...60 dd vwhvw GGhpn:

Muwpnipuwyh YytipgGuwlwl duwynpniip juwnwnpynd £ wnwohl mpwdw-
swithnn quqwph wgnuihg htinn, pwGh np wyG nGh dQwlynn ywpnipwyh
wnnbhih inhy pwpépnipynip: Ujnie mpudwswihnng wnwdGbnG wpnbl 66
Jwulwlygmu Yupdwb gnpoplGpwghl, wyp ownwjmyd b6 npuybu ninnnpn
(tpuyuwpnipuyphyp wlgph dhe nminntnt b wnwlpwjhl nunnipjudp hwdw-
wwunwufuwl pwjny wmbnupwpdtint hwdwp: Gpp dwpynd L wmpuwdw-
swihnn wonwohl wnwuinp L juumwpynud L Gepuupnipulhsh upnid, npudw-
swihiw( w2 fuwnwlpp Juumwpnd £ hwonpny quiupp: Ujuwbtu ypyGynd £
Jnipupwysymp upmidhg htinn: <bnmbwpwp' npudwswing Jwup whnp k
nhwut] Gwl npytu Jupnn dwuh hwdwp yuwhbunwjhG dwu:

‘UtpyupnipuhyGipp dwpynid GG, hhiGuywlnd, htnhG dwytplng-
pny YnGhg ntyh quubGwlwlhl wigiwl mtnuiwund L wybkih phy swthny
dwpynud GG wnolh dwlytplnypny: Uyn ywwmdwnny b GipuuwpnipuyhyGtpp
upynud GG hGywtiu htnhG, wyGytu £ wnelh dwytplnypltpny, npp pwpa-
puglnmu t Gpulg ogqmugnpoiwl dwiljtunn:

‘Lhpywpnipuwhsh mpudwswihnng dwuh ywpnipuyp yqunpwumyned
L hwjwowl YnGwlwlmpjuip, npp Guwunnmd £ jupdwl plGpwgpnid
2wl mdtiph thnppugiwln: MnuyuwunGtph Yywliwl nhypmd hwjunwy
UnGwywlnpjul wpdtpp nmwwnwiynmd £ 100 4 Gpupnpjul Jpw'
0,05...0,12 duf, hull mhnwlwihG hwiwenuopltinh, otptwlwyniG wnn-
wwwnbtph yuydwb nhypmad® 0,16...0,20 #f uwhdwGGbpnid:

Spwiwswihnn dwuh tpupmpnGi wgnmu L Gipuupnipuypsh pln-
hw(inip Gpupnipjwl Ypw: Spwiwswihnn dwuh Gpupnipjwl pGupnipjwu b
dwdwlwly hwplywynp £ hwpyh wnll] Gub dauyynn yqupnipuwyh Gpupne-
pjniln: Pnnp upnuiGtphg hiin mpwdiwswithnn dwuh tpupnipynilp whnp
L uqih duhynn wwpmpuyh npudwgedh Yhuhg wybihG dhehl L funynp
swithh GhpuyupnipwyhsGiph hwdwn, hul thnpp mpudwqony Ghpuywpnipu-
YhsGph hwdiwp wwpnipwyh wpwdwqoh 1,2...1,0 dwup: UGhpwdt)wnm E
(61, np mpwiwswihng dwuh Gpupmpnilp sybwp L Ytipglty dko, pwlh
np Gpw Gpwpnipjwl thnppuwgdwip, pupbjuyynid L Gipyuwpnipuypsh wyp-
fuwwmwlpn' 2Gnphhy ninpnn dndtlunh thnppuwgiwG:
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Spwiwswihnn Ywuh tpywpnipyniGp dtnph GepuuwpnipuyhyGtph hw-
duwp tpupfuwynpynud £ 12...6, huy dwltlywihl GhpuyuwpnipuyhyGiph hw-
dwn' 8 quwip:

Utio nbip b fjuwunnid mwptinuyhG wynuGtph phyp, pwGh np wyl npnynid
E hw(ynn 2tpnh hwunnipynilp b wgnnud ninpnn dndtlump donpjuwb ypuw:
Gnpotwyulnd qwjG mwpwond GG quby 3 Juwd 4 wynuny Ghpuuwpnipw-
YhsGtpn: ®Onpétipp gnyyg GG wnyty, np nnpnn dndblunp wowehl nhypnid
10...20%-ny thnpn L, pwl tpypnpn nhiypnud: Gnpp npuwiwaqony Ghpuwpne-
pwyhsGph hwdwp Gpupuwdnpynd L oquuugnpoty tpynt wynu, npnlp
wwwhnynd GG Jpwlynn wuwpnipwyh npwiyp, b wpuwnmwlpnp htipnmwlnd :

‘Utpyupnipwhsh wynuh ypnpphihG Gepyujugynid GG hwwnny ww-
hwGoGtip, pwGh np wjl vES wgntignipymb £ pnnlnid gnpohph wpfuwnmwbph
Ypw: Uyu wnnuiny GEpuyywnpnipuwyhsh junnigquwopnp whump £ wwywhnyh.

1) pwywpwp mwpwonipni mwptnh mtnuwynpdwl hwdwp, hwnjw-
wtiu' funy wlgpbtph vk wwnpnipwl Ypwynn Gipyuwpnipuwyhsapnid, pwih
nn wju nhiypnid wnwowgwd mwtinl wipnnenipjudp whwp E mtnuwynpyh
wlnup vky,

2) mwytnugnjyugiwl L mwtnuhtnuwgiwb (wy ywjdwaitp jupdwb
qnponplpwgnid:

3) wuwpnipuwyp Yywlybtinyg htwn, Ghpuupnipuihsp htim wwwnbhu,
Juptwl gnpoplpwgh pwgunnid b jubfugh wpnbl GQyulwo ywpnipwlyh
thswgnuip,

4) yupniy whgniGbphg funtuwthnid” djudwl dudwGwl dwpbph wnw-
owgliwl pwguniwl Guuunwyny:

SwptinwjhG  wynuh  wpnbhth  hhdGwywl wwpwdbtnptpG  &G6
w) wynuGbph phup, p) Shonih wipwiwghon (dyy). ¢) htwmph (wuwdh)
jwGmpynn (F), 1) wnglh wlymGn (v), &) wnwdh phymGph whlymGp €):

Ul. 6.5-md pipdwo t Gipyupnipuyhsh wnwlgpwjhG hwwnnypn:

Uupnn L mpudwywihnn dwutpnid wynuh ypnbhip mwppbp £ ybpg-
ynud: Lwlh np wupmpuywipwydwli dwdwlwy nw)btnh hhdGuwlywl dwup
htinwgynmud E Yupnn dwup Ynnihg, niunh wynup fjunpmpnilp’ mpudwswihng
dwuh hwitdwwn® wju mbnuiwumd Ytipgynd L dko, mw)tinh wmbnuynpiw i
hwdwp pujwpwp owjuwy wwwhnytim Guuwmwyny: Opytugh hwijuo
nuptinpn sfunwlw wynuh dbe L htpummpjwdip htnwgyh Yupdwl gnumg,
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(ywunuywhwpdwn L jupnn dwumd wnup yuwmpuwunt] yuonunwuygnp
Jud pipwo (A = 5...6°):

Uly. 6.5. Unuh ypndhip

‘Lhpywpnipuyhsh dhemyh wipwdwghon (dy,) wbwp b ytpglby w)G-
whuh vwhdwGGtpnd, np wwywhnyyh Gpuw wipmpinilip b winuh hwdwnp
pwywpup owjwyp:

@Otnniph Fjwylnpyniln swbnmp £ dko 1hGh, pwlh np wyl vhowgltijhu’
dtowlnd GG 2thiwl nudtipp L winuh dh9 mw)tinh funmwgdwl hwjw lwyw-
(mpjnilp, npp Gipuywpnipuyhsh ynnpdwl yuwwdwn jwpnn § hwinh-
vwlwy: Uwluwjl £ thnppugbting GJugnud £ Gipuupnipuyhsh upnudGtph
phyp, Juunwlnwi Gapuyuwpnipwyhsh munjuonipniGl wlgph dte, L wyl
ujunid £ wpfuwwmt] mwwnmwlnuilupny, npp pugwuwpwn b wgnnd 6hpun L
dwpnip wwpnipuwlh unwgiwb Yypw:

‘Utpyuwpnipwhsh wnwith weelh Ghunp Yupnn E {hGh) hwppnipniG
Jud dwytiplnyp: Unwohb ntiwypn (hwppnipjnil) wytijh dGo mwpwomy niGh
upiwl wwpgnipjwl yuwwdwnny b, pwgh wjn, wnwih Ynnuyhl Yupnn
tgptiph Ypw wwpmpuyh wpndhh nng pwpdpmpjudp wnebh whlyyniGp
Yuipniyy thnthnfunipymGGbp sh ypmd, hGswbu tpypnpn (Gwytplogp) nby-
pnud: Uwluw)G dwytplnyph ghypnid jujwlnmd GG mwpbnugnjugnuin b
nwpbnuhtnwgnudp:
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‘Utipyupnipuhyp G yuwnbijhu wpwowgwd mwpbnp jupny L wnw-
uh phynilph dwunid ddpyt: APwgh wyn, Ghpywpnipuyhsh ny wuwmwl-
pwjhl Yupnn Gqpp upnn b Gwb jupt) dhownp (GQuidwo dwibplogpp):
Qw pugunbtint Gywnwiny wGhpwdtym b, np p whljniGp wpgh 90°-hg
uto, wyuhGpG' & walymGp Juntih E YtpgGty 85...82° uwhiwlnid:

‘Uhipywnpnipwyphyp hhdGuwuind yuwwmpuumynid £ nimpn wynuGbpny,
uwuwyl nyniphG nmwtnuwhtnwgdwl Guyuwwnwlny wjG Yupth E ywunpuu-
wmb] ywpnipuluwdl' 10...16° pipdwl wymnitny (GY. 6.6):

w)
LY. 6.6. Unulikph nignnipynitp

UynuGtpp yuwwpwumynd 66 Gpym mnnmpymGatpny” dwfu jud we
ptipywo: UnwohlG nhypmd, updwb pGpugpnid qnjugwd mwtnl holnid
t, (GY. 6.6w), tpypnpn nhiypnid” pupdpwlnd (GY. 6.6p):

Unwohl ntiwpp Yhpwnymd £ wlgnnhy wgph dk wwpnipuyh dawly-
dw G, tpypnpyp’ funy wlgph e wwpnipuyh ywydwb hwiwn:

Minhn wynuny Ghpyuwpnipuhynd Guuunuwlwhwpdiwn E dhw)l jupnn
dwund winup yuwwnpwunby pipwo jud yunnnwwyhl, npp Guuumnd k

Uly. 6.7. Uynuh pipnipynilp
wpnn Ywunud
13



1wy mwptnuhtnwgiwn (GY. 6.7):
Uynup ptipdwl wGlyymbp hwpyymd E htnlywy pwGudlny.
L (6.6)
L +c
nputn 2 =(0,5...0,7)F, ¢ = 2...12 iy,
[ - n° Gipywpnipuwyhgh Yupnn dwuh GpupnipniGa t,
F-n° thtimniph jwyGnpyniGp:
‘Utipupnipwhsh Yupnn hwnynipymGatpp yuhugwo GG wnolh™ y L
htimhG a whlyynGGtph pGunpnipjniGhg:
Unolh wllpyniGl pGupymd £ yufugwo sywlhynn Gniph dhghyw-vb-
[luwGhyuywl hwnynmpmGitphg: Unglh wlljjwl dhowgiwdp pupbjuy-
ynud £ wuwpnipuywhwGdw( gnpoplipwgp, hwnjuwwbtu' dwonighy Gyniptiph

Wuwliwl dutwlwly L pwpbpuwlnmd dywlhynn dwybtplnyph dwppmpniln:
Unynpwpwn, weelh walynilp fupng L mpudwswhnng dwutipnd ytpgynud k
hpwp hwjwuwp'y = 5...30° vwhdwlnud: UyG nhypnud, tpp jupnn dwund ju-
nwnpyuwo E wynup junpugnid, Guuwwmwwhwpdwn £, np juuipng b mpudwsw-
thnn dwutipnud wnelh wGyniGGtpp wmwpptip (hGel: UwulGuwynpuwtiv, Jupnng
twuntd wnglh wilyniGp 5...7°-ny WGo L mpwiwswthnng dwuh wlyynGhg:

‘Utinyupnipuwhsh ypw htnhG wiyyniGp vnmwgynd k£ Yupnn dwuh wp-
wmwphlG npwiwqony onopwldwl thongny (GY. 6.3p): <twmhG wiljwub db-
onpjnilp Juhugwo bt Ghpyuwpnipuyhsh mbtuwlhg L swthhg, hGswtu Gul
vpwlynn Gymiphg: UbpblGwjwliul L dwltywjhl GipuyupnipuyhsGiph hw-
duwp tpuwfuwynpynud £ htnhG wGlyjwl wpdbp® 8...10°, hul dtnph Ghpww-
pnipwihyGph hwdwn' 6...8° vwhdiwlnwd: Nppwl Gynipp dwonmghy k, w)G-
pwl « -G whtwp k 1hGh dkGo:

Onopwiwl wiydwa & swithp npnynid £ hbmbywy pwlGuwdlng.

k="%q . (6.7)
z

npuntn z-p wnwdGhkph phyG b, d-6° Ghipyyupnipuyhsh wpmwphlG npudw-
qhon, a-G" htinhG wGlyniGp:
Uwnpnn dwuh guijugwo pGpughy Yhnnud htinhl o; whlyniGp npnp-
ynud £ htinbyw) puGwalng.
tga; = kz/nd; , (6.8)
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npntn’ &;- G nuntiGuuhpynn Yannd YnGh wowlgpwjhG hwwnniyyph
nnpwiwghoG k:
‘Utpwuwpnipwyhsh Yupnn GqpbphG nipnuwhwjwg hwunnyplbpnd hb-
whb wilyyniGGtpp npnpynid GG.

tea, =tga, sing . tgay, = tga, sin(90° - @), (6.9)

npubin &/2-n° yupnipuyh ypnphth wiyjul Yhul b {tnhl ay wilyniGp
npnpynud £ ypndhiny hnuo GhpuyyupnipuyhsGiph hwdwp:

Mupmpuyh ypnphih pGpughy Ymh hwiwp wnolh whlynGp hw)y-
ynud £ htinbyw) puGwalng.

d .
ey =tey (6.10)

‘Utpyupnipwpsh Yupnng bqptphG nipnuwhwjwg hwwnnyplbpnid wn-
olh wlyniGGtpp npnpynid GG htnlgwy Yhpy.

tgy, =tgy, sin% . tgyy, = tey,sin(90° - ¢): (6.11)

Ohnyywo 4dtnph GhpuuwpnipwyhsGiph onopwynuip Juumwpymy k
Uhwjl Yupnn dwuny: Spudwswihnn dwup ondpwliiwl sh GGpwpyynid,
pwGh np onopwiwb nhiwypnd thnppwlnwd £ htGwpwlwihG dwitplnypp, L
htippwwl upnuiGtph wpyniGpnmd Ghpywpnipuwyhsp Ynpglnd £ mpudw-
qowghl swthp: Pwgh wyn, Ghipyupnipuyhyp b yunntjhy hwijwo wnw-
otinp Jupnn L ubyyt] onopwywo L dywywd ywuwpnipuyh dwybplngp-
Gtnh dhol, nph wpnyniGpnd gnpohpp Yupnn kb wlgph dke, GnyyGhuly’
Ununpyt: UwGtugpb shnygwo GhpuupnipuyhsGipp onopwyynd GG Gl
npwiwywhnng dwuh wpnmwphl mpwdwqony, pwih np dwitlwjhl Gtp-
wwnpnipwihyp ywpnipuyh dQujiwl wjwpnhg hbnn Gtun sh yuwmynid,
niptidl wjuntn squw G2gwo Guhunpn yuwlqp: Opwtiugh GipywnpnipwyhsG
n(blw pwjwpwp htGwpwlwihG dwlibplnyp, wpluwmwlph plpugpnid
lwy nunnyh wlgph dt9, pnyjuwmph pwqiwlh upniGtp, wihpwdb)nm L
onopwynil hpwlwGwglby wnmwdh F jwyinipjub 2/3 dwuny, pnnGtnyg 1/3
swihny shwlgwo ptipun:

Anyywo GepupnipuyhsGiph hwdwp wlhpwdtyn b ondpuwynuip Ju-
nwnpl] (wb npwdwswihnng dwuny, hwjwowl wwpwquymyd Yupdwd
gnpoplpwgnid wnwowgwd vhnwnyu thnpphy dwulhybtipp, Yustny Gtp-
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wuwpnipwihsh ywpnipuwyh qujupbtph, yndqupugltl Gpw hbnwqu w)-
fuwwnwbipp, L gnpohpp Ywipnn E ynunpy:

Ul. 6.8. Spuiwswithnn dwuh wnwdllph jurnigywopnp

Uyuwhuny, Geipuyupnipuyhsh mpudwywthnn dwup jupth £ guunpuuo-
wmb w) wnwlg onopwliwa (GY. 6.8w), p) wnmwdp onopwybny (wjGnmpjud
2/3 dwuny (GYy. 6.8p), q) wwmwip Oondpwlbny wdpnne (wjlnipjudp’
k=0,01...0,02 Jf suthny (GY. 6.8q):

UhGslk 10 df mpudwqony GepuupnipuyhsGtpp dhowdwuwdp wyuwwn-
pwunynd GG wnwlg ondopwluwd, huy dwltywihl GipuuwpnipuyhsGpp
onopwlynud GG wwnwdh shwyG 2/3 dwuny, dGuguo nhiyptipnud” wnwdh wd-
pnn9 F pwjlnipjwdp:

Cthiwl mdbtph thnppugiwl Guwwumwyny hwdwju Ghipuyupnipuyhsp
onopwiwl b GGpwpyynd ny shwjl wpumwphlG npudwqony, wjl Gul’
wwnwih wdpnne wypndhiny: Uju nhiypmd YnnuwjhG httmhG whlyjwl wpdbpp
Juquimdu k. 15...20":

Onpp swthtinh GipyuwpnipuyhyGbph pwhwgnpoiwl thnpdhg htimbnd
E, np dhowdwuwdp npwip pwpphg nonipu GG quihu ny pt dwpybtyneg, wyp
ownntnt wuwwdwneny, npp funumd £ Gpwlg wipwdwpup wipnpjwl
dwupl: Udpnipjul pwpdpugiwl Guuumwing oquuwgnpoymd GG wlnu
snilbgnn GEpuyuwpnipuyhsGp (GY. 6.9):

UpwGgnd wpymd G0 Jupd wynulGtp’ dhwyG Yupnn dwup pylGuyh
tpquwpnipjwl swthny: Uynultph ptipiwl wGlyymbGp ybtpgymd b 10...15°
uwhdiwlnd L munuo £ ywpnipuyhG hwjwowly: UynuwihlG mnudwunid
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Ul 6.9. Unwlig wynuh GhpyupnipulhsGbin

ntiwyh wynswdwu Gipyupnipuypsh dthonijh mpwdwghop dtowlmd £ 5...10°
UnGwlwlmpjuip: Gnpopph Giwl Junniguwopl wwwhnynd £ ww)tnh
htinwgnuip dwunnigiwl ninnnipjwip b wjl oqumuwagnpoynd L dhwjl wa-
gnnhy wlgptpmd wwpnpwyltph duwiiwl hwdwp: Chdwl mdbph
(Jugbgiwl Guuwwunwyny wnwlg wynup GipyupnipuyhsGiph wpuiw-
swithnn Ywup yuwupwunynd L hujunwl ynGuluwbnipjudp’ 0,2 dif™ 100 dif
tpywnpnipjwdp:
inipwyh wnnbhih swihtpn Lp opltinn

Ltipyupnpuyhsh wwpmpwyh wypndhih subph b poygiunfwoptph
Gpwlwynuip yuhugwo E yqupmpuuwhwiiwli wigph wypndyhihg, swihtinhg
L 6punnipjnilGhg: UwGtYh (U), htnnijup (<), L Gipyupnipuyhsh (U) hwdw-
wmbtnyuwo pniyjjnywoph nupwbtpp ptipjwo GG GY. 6.10-md (wqupnipwlwjhl
dhwgniiG niGh whgniiwjhG Gunbgywop):

‘Utpyuwpnipuyhsh b dwlbyh wpumwphG (d, D), $hohl (s, D;) L GapphG
(d1, D)) mpuwiwqotph wiywlwlw (GndhGwy) wpdtplGtpp GnyGa GG: Mw-
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pnipuilih ypndhih swihtipp juuguo i gupmpuyh nkuwul wypnphih 7
pwpépnipniGhg, p pwjihg L wypndhih walyjwh Yhuhg' &/2 (¢ =60° dstwmpulwb
wuwnpnipwlGinh hwdwp): Con vnwlnupnh, dbnpuyul yupnipuyh sw-
thtipp npnpymud GG hnlgwy Yepy.

p

l\ EIRSE
NN\
: %7 =2
11
3
N1 A <t =
L. © -
A\
y /4
/I’I
) A7
S = -
S 3
Q R % =
=

Ul 6.10. UwGtYyh, htnnyuh U Gepyupnipuyhsh
pnyunwoph hwdwwnbnjwo uubtw G
H =0,8660254p, H, =0,541265%9 L R = 0,1443276p:
‘Uhpyuwpnipuyhsh wupnipuyh wwppbnh d, dy, da, p, /2 pnyjjmywop-
Gtpn Gaulwyynd GG hwdwdw)G gnponn unwlnunpunbbnh:

Onynmywopltiph swthtpn Yuwujwo t6 dwltyh wyuwpnipwyh dpuni-
pynilhg, huy ywpnipwyh dywydwb nghypnid Ghipuywpnipuyhsh dpwmnipjwb
nuul punpynud £ punm sQuyynn yuwpnmpwyh 6unnipjwl wunhdwlh: Utin-
puwywl yupnmpuyGtiph hwdwp GipuupnipuiyhsGipl nGbGnd GG 4 6unnt-
pywG nuu' H1, H2, H3, H4: Uywlynn wuwpnipwyh 4H, 4H5H, SH L 6G &)wumni-
pyul wunhdwlh hwdwnp pGunpynd E 1-hG quup @Qummpjul Ghipuyupnipulhy
(H1), SH6H, 6H, 6G, 7G Gyumpjul wumphdwlh hwdwn 2-pn nuuh Gpuni-
pjwl Ghpwuwpnipuyhy (H2), 6H d)unnipjul wumhdwlh hwdwp' 3-pn uuup
Gyunipjul Gipyupmpuyps (H3), 6H, 7H Gumpjul wunmhdwlh hwdwp

4-nn nuuh Gpunmipjwl Ghpyupnipuyhs (H4):
18



Uwtyh ywpnipwyh poyjmywoph Goulwlniip wnwowlnid E Gpunni-
pjwl wunhdwlh L dhohG nt Gepphl mpuwiwqotiph hhiGwywb ptnnuiGtph
qniquyjgdwip:

‘Utipyuwpnipuyhsh wupnipuyh dhohl ¢, mpuwdwghon Gpw Gpunipjwul
wunhdwlp pGnipugpnn hhiGwlwl deonmpiniGl t, nph 7d; pnyjjunwopn
GruwGwyynd £ hwpyh wnlGhiny ds, p, €/2 yuwpwditnptph dwydw@ hwdwnp
wuwwhnywo (Gpwfuwynpfwo) wwpwph ufuwqwpp.

Td, = 0,2 TDy(5), (6.12)
nputin 7D, -p, pun unwlnupuh, Yywlynn yuwpnipuwyh shohl mpudwqdoh
poyunyuwopl £ 5-pn wumhdwlh Gpunipynilnid: 1...4-pn nuuh §wmnipjniG-
Gtph hwdiwp Gepuupnipuyhsh “hohG mpwdwqoh GhpphG (6.13) L ytphG
(6.14) tnnuiGlpp npnpynid LG.

eid, =+ 0,1TD, (5), 1-hG wunhdwGh Gounnipjub
Gpuuwnpnipwyhy Giph hwdwp

eid, =+ 0,3TD, (5), 2-pn wunh@wGh Gynnipjub
GtpuyupnipuyhsGiph hwdwnp (6.13)

eid, =+ 0,5TD, (5), 3-nn wunhdwGh Gynnipjub
GtpwwnpnipwyhsGaph hwdiwp

eid, =+ 0,3TD, (5), 4-pp wunhdwGh SyunnipjuG
GtpwwnpnipwyhsGaph hwdiwp

€Sd2 = eidz + sz: (614)
Uwptwl hwiwn tpup fuwdnpguo wjupwpnp dhohlG nnpudwqony npnpymud .
A 2= eSdz - eidz . (615)

‘Utpyuwpnipwhsh wpnwphG d wpwdwqoh vwhiwlwjhG ptnnuip
npnynud £ wwpnipuyh wpndhih swihtipnyg b juopdwl ppugpnud wpndhih
ququph twund wybh ko twpyuonipjudp:

‘LtipphG ptnnudp npnpynid k.

eid =0,4 TD, (5): (6.16)

d >6 Ju nhypnid wuwpnipuyh wypndpth ququph vt upnipjul hb-
wmlwlpny YtphG esd pinmd sh vwhdwlynid: UGwugwo nhypbpnid ququph
upwgnudp GyuqtigGtne Guumwyny GEpuyuwnpnipuyphsh esd-G GpuGwyynid £
nuun unwlnwnpwunh:

‘Lhpwwpnipwhsh GepphG wpwdwghop swbwp L wwpbn Yuph, hb-
wlwpwn' Gpu YephG ptnnuip yapgynd k esd; <0: ‘Lipyuwpnipwyhsh wuwpni-
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pwyh GepphG wpudwqoh GupphG esd; 2tnnidp sh vwhdwGjwo: ‘Lpw Ghp-
phG wpuwdiwqhon' diye = Di:

Muwpnmpuyp 0,25...5,0 4 pwjih nhwypnid wypndphih wllyjwb yeuh pniygg-
nquwopp Yyupgynd k. 7e/2 = + (40'...15') 1, 2, 3 Gpunipjul nuup Ghpyw-
pnipuwyhsGhph U 7e/2 =+ (80'...20")" 4-pn Sowmnipjwl nuuh Gipuupnipulhs-
Gtph hwdwp: Utnpuwwl gqupnipuyiiph hwdwn, shnquo Gipuyupnipw-
Uhsh nhypmd, wwpnipwyh p pwyih 2tnnudp pyny 25 quiuplbph Gpywpne-
pyul Yypw hwywuwp t +0,05 4, hnyuo Ghpyuwpmpwyhsh nhiypnid
0,006...0,012 uf:

6.2.3 Lhpwyuwuwnipwyh; Gt wlwqy]

Lpuyuqiny GhpuupmpulypyGiph junmgywopp L wpfuwwmniGuyni-
pjnilp Juhujwo t Gpwlg dhol pinGuwompjwb puwpfuiwl vjutidwjhg: Gnpo-
Gwluwlny Yhpunymd 6 ptinGuompjul pwhpdwl wnmwppbp ufutidwbn,
npnlighg wytiih pmpwqpuubitpn pipqwo ta GY. 6.11-nuwd:

60’ 60’ 60’
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Ul. 6.11. Lpwlwuqih GepuyupnipulhsGph puw
owlpwpbintwonipynilGtinh pwudwl vjubdwl

Unwohl vfutidwjh niypnd GwhuGwlwl dywiiul hwiwp Gwpuwmbujuo
GipwuwpmpuyhsGiph wpnwphlG L dhohlG wpwiwqobpp, Jwppwumw)h
hwibdww, Yytpgynd GG thnpp (GY. 6.11w): Lpuwuwqih htppuwl Gepuyw-
poipuyhgp dwppmd b Gujunpn hwdwph Ynndhg dawljwd wuwpnipulh
wnnbhip YnnuyghG dwubpny wdpnnonipjudp: 9pw hwdwp GwhuGwlwG
(GbpuyuwpnipuypsGph Ynnuhg dywyiwl pwpép Gunipjul wwywhnyiwb
wlhpwdtpumnipynil sh wnwowlnui: Unynpwpwp, jpujuqip vbwwnmw) Gp-
wuwnpnipwyhsGtpp htinwglnud GG dtmwnh hhiGuyuwb dwup (Whask 80...90%)
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L dwppwwnw) GipyupnipuyhshG dGnud £ hwdbdwmwpwn phy wfuwnwlp
wwnpnipwih dwppiwl b mpuwdwswihiwl hwiwp: Gwumnptl, dwppwwmw)
Gpyuwpnipuwyhsp dwynud ©wpndhyG wipnne pupdpnipjudp, nph nhwpnid
hw(ynn ptpnh hwunnipynilGp dhowlnid £ jupnn dwuh hwdtdwmwpwnp ny
Uto tpupnipjuwl ywpwquwjnid, npp b pugwuwpwn b wgnnd gnpohph Yuw-
JniGnmpjul Ypw: Uju ufutidw G wybih juy6 mupwonid £ unwgt dtnpuub
wwnpnipwytph duiwl hwdwnp:

Gnynnpn vfutidwyh nhiypnid wpfuwmwlpp GipywpnipuyhsGph dhol
pwfuynud £ wyGuytiu, np puyuqih dke dnlnn GipuyuwpnipuyhyGtph sheohl
wnpwiwghop wwhynd £ withnthnfu (G4. 6.11p): Ujn uvjubdwyph nhypnid
pnnGjwopp pufuymd £ GEpyuwpnipuypsGph dhole h hwphy wpunwphG
wnpwiwqoh GJuqtigiwl, hul jpuyuqih b9 dnlnn GipuyuwpnipuypsGtph
wuwpnipwih ypndhip hnyymd £ Gyl swihtpny: Uju ujubidwjh wowybne-
pynGG wyG £, np Jwppwwnmw) Ghipyupnipuwyhsh ypw ptinGuonipjniGp thnp-
pwlnmd t:

Gppnpn ufutidwl Juqinmd E wnwophG L Gpypnpn ufubidwltph hwdwy-
gnuip (GY. 6.11q), wyuhlpG vlwwnw) GepyupnipuyhsGtph ponGywopp np-
ynud £ dhwjG wpmwphlG mpudwqony, hul dwppwmw)p dywlimd wupni-
nwiyh wpndhy i wipnnenmpjunip:

Clnwlnp wniwdp jpuywuqih Ghpyuwpnipuyhsbph swthtpp npnyynd
LG httnlyw) pwGwdltpny

1) ubwwnwy GhpyupmpuyhsGiph wpunwphl mpudwaghop

3..52 ddmpuwiwqotph hwdwp® d; = d;;—(0,52...0,55)p,

UhG;sl 3 df mpuwiwqotiph hwdwn' d; = dy; —0,6p:

2) Ghohl Gtipwuwpnipulhsh wpnwphl wpudwghop’

3..52 ddmpuwiwqotph hwdiwnp' dy; = dj; —(0,17...0,16)p,

UhGsl 3 dof mpuwiwqotiph hwdwn' d; = dy; —0,23p,
npntin d; U dy -p, hwiwwwnmwuhiwGwpwp, vbwmw) b UhohlG Gepuwuipni-
puwyhyGtph wpnwphl dhowagnyyi npudwqotp ta, huly dy; -p” dwppuwwmnw)
(tpuyuwpnipuyphsh wpmwphb thnppugntyG mpuwdwghop:

3) ubwwnwy GipyuwpnipuwyhsGiph thohG mpwdiwqhop' dy; = dayy —0,15p:

4) uhght GtpupupnipuiyhsGtph ShohlG wpwiwaghon' day = da iy —0,07p:

Lpwlwqih dbe dwmlnn GopuuwpnipulhyGtinhg jnipupwlsnpp dyw-
Unud £ wuwpnipwh ypndpih pGphwGnip dwytptuh npnpwyh dwup, wijwhu
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nGunnpywo ufubdwjhg: LhpywpnipuyhsGiph wnwehl hwdiwpp htinwglnid £
plnhwnip panGwoph 50%-p, tpypnpnp' 35%-p, bppopnp 15%:

nwwwnpnipwlihsGhp
UpunwuywpnipuyhsGipp Gwhiwntujwo G wpunwphl yuwpnipuyGtph
dwlydwl hwiwp: Cun dywlynn ywpnipuwih mbuwyh §inp wpunwwwpnt-
pwyhsGhpp Yhpwnynid GG w) dbmpuluwl yuwpnipuyeph Bauipdwd, p) Yin-
pwynil wupnmpwyGbph Byuydwd, q) ynGuyuwl yqupnipuyitpp GQuydwa,
1) wy] whuh wupnipuwyGtph duydwl hwdwp:

Ynp wpnmuwwywpnipuyhsp unynpupwn Yhpwnymd  wjGuhuh yupnt-
puwybtph Wwliwl hwdiwp, npnlGg Gumipjulp b dwybtplniyph dwppnt-

pywln hwwnnly wwhw6eltp st Gtpluwjwgynii: Unnwwwpnipwlhsp sh
wywhnynd Gyuwlidwl pwpép G wnipjnilG (ny pwpdp 64, 84 nuuh G)unt-
pyiGhg), pwGh np otipdwdywyniihg htvn Gpuw wupmpwyp hnydwd sh
tlpwnyymd, b wuwpnpwyh wjGuhuh wwpuwdbnpbp, hGguhupp GG puyp,
wnnbpih whlyymbp, shophl wmpwiwqhon, ptnymd G6: LYwo 2tnmdGhpp
npnpwihnptl Jniymd GG hwnmy dfujwoe mpwdiwswihnn Ghpywpnipu-
Yhsh oqlnpjywdp, nph dhongny 9otipdwiywyniihg htnn wpunwuwwpni-
pwlhsh wwpmpuyp npwdwgwggnud

Ynp wpnwwwnpnipwhsh junnigyuopwjhl mwnpnpbtphg GG

w) Yupnn L mpwdwywthnng dwubpp, p) mwbnuynp wigptiph pwlw-
Un, mpudwghon, thtimniph quyGnipjniln L dLup, ) wpmwphG mpudwghop b
[wyGnipjnilp, ) Yupdwl walyynGhtpp, &) wipugiwl wwppbpn:

w) Uwnpnn dwup juunwpnd £ yupnipuyh ypndpih dlwydnpiwl hhd-
Gwlwl wfuwmwlpp: Upnwwwpnipulhy niGh tpinm swlwwnmwihl Ynn-
dtinhg uipnn dwu, npp hGwpwynpnipjnil £ mwihu Gwlt] wupnipuly ph
Uk, L pb Wynu ynniny” tpupwaqbtinyg qnpohph oquuugnpoiwl dwiltinnp:

Yuipnn dwup yuwwmpwuwnynid E GipphG YnGh mbupny (GY. 6.12w), npG
wwwhnymu k upiwl wpfuwmwlph pwpfunidip dh pwGh YuphyGhph ypw:
2¢ wlyyniGp thnpp ytpglGhn nhypnd yupnipuyh dbwynpdwl wfuw-
nwlpp pwpfuynid L wybtih dbo pyny YuphsGtnh dpw, hul dto ytipngGtint
nhypnid wpnmwwwpnipuyhsp sh peind (plngpynud) Gwfuwwwnmpuwum-
Jwopn: UnGh ¢ whljwl wpdtpp L Yupnn dwuh Gpliupmpnilp juuguwo GG
dywlynn (whrwwywwunpwunywoph Gniphg: UWdnip wnnuuwbtph dyuydwl
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hwdwn 2 =30°, gniGwynp dtnwnltiph b hwiwdnjwopltph hwdwnp 2¢ =
= 50°: Lanhwmp wndwip, 2¢ wilyjniGp yipgymu k 25...90° vwhdiwGGEpnud:

L. 55 57
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Ul 6.12. Upnwwwpnipulhsh jurngywopn

Uuipnn dwuh jnipuwpwlsgynp wnwidh Ynnihg hw6ynn ptpnh hwu-
wnipjnilp hwpyynud L wjlGuytiu, hGywtu GipyupnipuyhsGaphGn.

Lo Pee .

z

(6.17)
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Uwlwy6 wpnwwwpnipwihsh e-h wpdbtpp vnwgymud L wybtih dko
(0,04...0,38 ), pwl Gupwuwpnipuwyhshlp, pwGh np wponwwwpnipwlpsh
Yupnn dwuh bplupnipymGa wybijh thnpp £ 7, =3..4p:

Gupnn dwuh GpupnipyniGn hwpymd t /) = (d —d, +20)2tgp, puGudlng,
npntn d-G° yupnipuih wpnwphG npudwghoG b, d;-n° yupmpuwyh GipphG
wmpwiwqhop, /-p° wyl tpupnipynilp, npG wywhnynid £ Gwfuwyunmpuun-
Jwoph vwhnmG dninpp wpmwwwpmpuypsh dke L ypgynmd £ hujuuwn
0,2...0.4 dif: dy mpuiwqhon’ dy = d; + 2e, nptin e = 0,05...0,15 4of (GY. 6.12p):

Spwdwswthnn dwup Gwuwwmbtudwo b yupnipuyh dwppdwl b mipws-
dwywthiwG hwdwp: Uy ownwymd b Gwb npybtu ywhtunmwihG quup
Yupnn Swup updwl hwdwp: Spudwswtnng dwuh GpupnipymGn’ /,= (3...5)p:
Upunwuwwpnipulpsh pnhwlng juyGnpyniGp hw)yynd £ yupnn b mpw-
dwswihnn dwubinh gnidwpny, wyuhlpG A = (6...8)p: Spwiwywithnn dwunid
wwnwy-Gtpp st onopwyyniy:

UpunwwuwpnipuwyhsGipp yuwpne-puyh ypndpny sE6 hnymd, npuw hwdwn £
nnup dpwlymy GG yupnipwy' 64, 84 G)nnipjwl nuubtphg ny pwpdn:

p) SwptnujhG wlgptinh pyh thnppugdwdp hwlynn 2tpnh hwuwnnt-
pjnilp dtowlnud k, wyuhlpG thnppwlnd L wwnwidh Ypw plllnn mbuwju-
npwn nudp: UwuyG whgptinh phyp pGupymd £ ng pt hw)yh welting G2qwo
hwlqudwlpp, wy wjl hwpwpbpuwygnipjudp, np gnymipynil niGh wpnw-
wwnpnipwihsh yupnipuyh b wigptph mpuwdiwqotph dhol: Ynp wpunw-
wwpmpwyhsh wwtnuihl wgptpp Jupnn b6 wwwopwunyty hGsubu
ytlwm, wjylwbtu b qnyq pyny L, Juwjujwod wwpnipulh wmpwiwqohg,
vwhiwlymud &G htnlywy wpdtpltpp. 2...5 d mpuiwqoh hwiwn' 3 wigp,
6...18 duf* 4 wligp, 20...30 " 5 wlgp, 3...48U "6 wlgp, 52 0" 7 wlgp:

UpunwuywpnipulhsGipp hhiGwwlnd pnpupyyniud GG quhynGiwb
vhongny unwgywod Yinp mwptnujhG wigpbpny: SwytnujhG wgpbtph d,,
npwiwghop npnynmid £ jujugwd thtniph £ jwjlnipniGhg b thnmpluph
Uhol inwo ¢ htnwynpnipjnilhg (GY. 6.13):

F/c-G wbwp t wwywhnyh thtwmniph wdpmpjub L ynpunipjul wwj-
dwlp, wpnwwwpnipuihsh dhpn L hnwwh yaGupnGuynpnudp wpfuw-
wnwlph ppwgpnd, pujwpwnp dwyw] mwtinh mtnuynpiwl hwdwp, pug-
duwyh wlquiGtp upnuiGtph hGupwynpmpnG: Lwjwpyyuwo wpdtipp ytpg-
ymd £ F/e = 0,65...0,8 uvwhiwlni: Gpt hwjwnGh GG F/e-G L thmnipGbph pw-
Guyp (z), wyw hwpyynud k thtnmipGtph dhole ¢ hinwynpnip jniGp.
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c =ud, /(1,65...1,8) z, (6.18)
npuntin z-G pGunpynud £ pun yupnipuyh mpudwqoh:
SwptnuwjhG wigph 4, mpudwqhon, puwn GY. 3.13-h, npnynid £ htwnb-
Juy ytipwy:

Ul. 6.13. SwptinujhG wigph L
thtinniph swhtipp

Mupmpuyh GipphG npwiwqoh Ypw qubynn a Ytnhg of Gwnwquyj-

phG v wiljwl nmwy mwpymd £ ab ninhnp, huy @ Yewnhg' ab-hG ninnuhwjug,
UhGsL hwnytipn OO0, wnwlgph htn: <wwndwb O, Yhwmp mwtnujhG wigph
YtGunnGG b, nph mpwdwghop npnynid £ hnbyw) pwGwalng.
dn,=c/cos(@ +v), (6.19)
nputin 6-G° OO0; L aO mnhnGtpny Juquigwd wlymGa t:
SwptinwjhG wlgptnh YaGupnGGaph nhpph mpuwdiwagqhonp npnpynid k.
Dy=c[tg (0 +y)+ctgl]: (6.20)
Unynpwpwn, wnwpbnujhl wlgptpp wuwwpwumynmd &l wpunwujw-
pnipwlhsh wnwlgphlG gniquhtin (A=0°): Npwtugh wwwhnyyh ww)bnh
htinwgnuin gqnpohph wnolh dwuny, wlgph wnwlgph ptpiwl wlyynilp
yJtipgynud £ npuuG (2>0°): Uwlw)G wjuwhuh Junniguopny wpumwww-
pnipuwhyGiph ywmpwummip pupn b, nph ywwnmdwnny npubp jwyl Yh-
pwnnipjnil stG unwgty:
q) Upnwuwwpnipuyhsh wpnwphl npudwghop juiudwd b ujwpni-
pwyh swihhg L mwtnujhG wigptph mpwiwqohg: d,, mpudwqoh dhowg-
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dwip nwptnuhtnwgiwl wwjdwllpp jwywlnd tG6: Uwlw)l wpunw-
wuwnpnipwlhsh wpmwphl D mpuwiwqoh pGunpdwl dwdwlwly hwpywynp £
hwpyh wnlt], np mwptnujhl wligptph wpwiwghonp Wko Yupglbn ntiwy-
pnid Gpw wpunwphl mpuwdwghop dtowlmu k, nph htimbwGpny wybtjuwlnid
G0 gnpohph wwwumpwumiwl hwiwp wlhpwdtynm gqnpohpwljnmph owfu-
utipp: Upnmwwwpnipuwihsh mpuwdwghop hwumwwmywo b unmwinupuny:

Upnwuywpmpuyhsh A jwylnipyniip dhowglGbny vhowlmd & wupni-
pwyh pwyjih 2tnnuip dfudwl dudwlwy, Juunwind E nmwpbnh htinwgdwG
wuwjydwlp nwtnujhl wigptiphg: Uhwdwdiwlwly, thnpp jwjlnpynilp sh
wywhnynid wpnwwwpnipuypsh d¢hpun ninnnuip, hwnjuwbu' dtnph w)-
fuwwnwbpltipnud: Upnwwywpnipwyhsh  qwylnpniG@ pGupgnd B Gpu
Yuipnn L mpuwdiwswthnn dwuh Yypw ququpltph mbnuynpiwl pujwpup
pwlwlhg tGEny:

1) Upnwwwpnipuyhsh wnolh vy whlynilp pGupyma £ juhujuo dywly-
ynn Gyniphg: Gupop Gyniptinh hwdwp wyl Ytpgynud t 10...15°, thwthniy Gyne-
ptiph hwdwnp' 20...25°: Unolh wGyynbp swihynid E wuwpnipwyh GapphG mpw-
Jwqoh Ypw: ‘Lnyl wmpuwdwqoh Yypw wpymi £ Guwl htnhG o wilyynln:
UhwdwdwGwly htinhG b wnolh wilymGGtnh ko wpdtpltnh nypnd Yfupnn
Jwuh wipmpynil6 pGYind E: bnpdw wpnwwwpnipujhsiph hwdwp htnhG
wllyymGG6 pGunpymy t 6...9° vwhdwlnud: <tnhG wilnGp unwgynd  ondopwly-
dwl dhongny L npnpymd L htinlyw) pwlwdlng.

k=mnd, tga/z : (6.21)

Sthulinipnghwywl pwpnuipyniGGiphg  GGany  wpunwwywpnipuypsh
wnpwiwywhnn dwuph wnwdbbpp 66 onopwymu, wjuphlpl puguuwny L
htimhG wGlyynilp, npG, whynipwn, pugwuwpwn L wqnmd fupiwb qnpond-
pwgh Ypw: Uwluwjl wju wguydwliapmd dtowlnmd £ (uuwwyuwnmpuum-
Jwoph Ynnuhg wpunwwwpnipwyhsh hlpGwltppwyniip, nph wpynilGpnid
Uywlynn wupnipwyh dwytplnygpnp dwpnip nt hwpp L unwgynid:

t) UpnwwuwpnipuyhsGipn wipugynd G6 wuwhyph (Gtnph wtuw-
nwlpltipnid) Jud Juuyhsh dhe: Udpwgiwl hwiwp wpmwwwpnipuypsh
wpunwphl dwytplnyph ypw wpgwo GG tptp Jud ynpu ynGuywl funpw-
gnmuiGtip, npnlGg phyp Juwhujwo b Gpw swthtiphg L pwhwgnpoiwl wuwyiwd-
Gtnhg (GY. 6.14):

‘Utipplh 60° ynGwlwlnipjudp funpugiwl vk tnimd GG wmbtnuyw;-

dwl 1 yunuwumwlGtpp , huy Yytepth 90° YnGuulnipjudp unpugdwl dhe
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Ul. 6.14. Upnwwwpnipulhsh
wipwgiw b ufubiiw b

utininn 2. L 3 wumwuwGtpp, npnbp, wpnwwwpnipwyhyp uwhgh dte quy
wipwgbtint Gyuwwnwyny, wnwlgphg 2tnyuo GG e=0,5...2 duf swthny: ‘Lnp
wpunwwwpnipuihsh  ytpbh dwulG nGh m hwunnpyudp dhowuy
(GY. 6.12w): Cwhwgnpoiwl plpwgpmyi wwpnipwlih wwpptiph npnpuyh
dwpynuihg httnn wjG htinwgymu t: Uhpwlwwh htinwgnuihg htivn utinidw(
hwidwp Gwhwntujwo funpugniGtpp pmyp GG mwihg 2, 3 L 4 yununwy-
Gtph oqlnipjuwdp Juwnwnply gnpdhph wwpmpwiyh wpwiwgdh Yupqu-
Unpnid” hwdwdw)G dpwyynn wupnipwih wuwpwdtnpbiph:

6.4 Mupnipuwuwiywldwi dptglbt

Mupmpuyuiyuydwb $ptqlGtpp Gwuwmbtuwo GG wuwpmpuyGbph
dnbgtipdwG hwdiwp: Apulp puqiunmwy gnpohpltipn GG, nph 2Gnphhy, Yunphg-
Gtpp hwitdww, wytih wpmunpnnuyub G6G: Gnpotuyuind mwpwowo L
dnbqltpny yuwpnipuyGtiph WQywdw6 Gpynt tnuGuwy.

1) wwpnipuwyh Swynidp vwlpuygnp dptiqny,

2) wupnipwyh dwynuip ujuyunwywihG $ptqny:
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dbptigipiwl wnweohl tnuwlwyh nhypnd $ptiqpn b Gwuwywwmpuwuwnm-
Jwopp juumuwpnud GG yununwlwl pupdmd: UhwdwdwGwly, $ptqp Jud Gu-
fnwywwunpwunyjwopp mtnuthnfuynd L wowlgpwjhl mnnnipjudp dpwly-
ynn wwpnipwyh pwjth swihny (wppwwywwmpwunywoph dkl wwniynp
nGpwgpnui: Upwymub wjwpunynud k, tpp Gwuwwyuwnpuwunywopp Junmw-
pnud £ 1Y, wung:

dbptgpiwb Gpypnpn GnuGwyh nhypnd pptigp wuwnmynd £, huy Gu-
[Juwwyuwwmpuwumywopn mtnuihnfuymu k yunninuwjuaqony dpwlynn wupni-
nwyh pwjihG hwiwwywumwufuwl: dptigh wnwlgpp Gwhiwwywumpwunywo-
ph wnwlgph (uundiwdp ptipjwo L npnpwlih wilyjwl wmwl, nph wpdtipp
hwiwwwunwuftwimd L duyynn wgwpnipwih pwpdpugiwl wilyjubp:
UjujwnwlwjhG $ptqltpl oqumuwagnpoynd GG wpuwphl L GepphG wuw-
pnipwyGtiph Qywldwl hwdwp:

Cuwn Junnigwoph wupnipuuiywliwb dpkqltpp thGnd GG

w) UwGpuynp quubGuijwl: Lwhiwmbtudwo GG ny fjunpp ypndpih yuw-
pnipuyGhph Wwliw6 hwdwp (puwyip' 0,5...0,6 dif):

p) Ujuwjwowlwjhl: bwhiwwmbtuwo GG funynp wypnphih wwpnipwy-
(tph Ypwyiwl hwdiwn:

Uwlpwynp dptqGtp: MNMwpnipuyuwidwydwl uvwlpuwynp dpbqltpp
(Y. 6.15) Gwhwwmbujwo GG thnpp pwyny wuwpnipwylbph dyuwydwl hw-
dwn:

Uly. 6.15. Uulipwynp $ptiq

onpnp pwjiny wwpnipwyGtph Qwiiwb hwdwnp gpubp phy GG Yhpwn-
Ynud, pwlh np ywlinuil hpwuwlwgynd L ywpnipuyh wipnng Gplwpnt-
pjutp thwdwiwbuwy: Uyn yuundwnny Gwb npulp sk6 Junpnn oqgunugnno-
yti] tpyunp wwpnipwyGtph Quydwli hwdwp, wnwyb] bu, np Gpywp $phqg-
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Gtph wwwpwummub hptilGhg pwjuwywbhl nddup b, hwnjuwbu® otipdw-
vywiwl dwdwluwly:

dbptigh hhiGwlwl JuenigywopwjhG wmwppbtphg GG pptigh mpwdw-
qhop, wlgph wpwdiwghop, ptiqh bpywpmpyniip, wnwdleph phyp, wunw-
dh L thnuhyh aup, Yuupiwl whlyynGatpp, wynuh ninmpniln:

Uwlpwynp $ptgh mpudwghop hwpyynid k.

d=D + 2E + 2H, (6.22)
nputin D -G dptigh wlgph mpuiwghoG k,
E-G" $ptigh hpwlh hwumnipyniGp, £ = (0,3...0,4)D,
Ha' mmwptnuyhG wynup fjunpnipyniGp’
H=h+k+r+e, (6.23)
npuntin’ 2-p" wwpnipuyh wpnphih junpoipmGa t,
k-G wnwdh hnyuwo mbnudwund onopuydwl swihn,
r-n° wnwih hhipnid wynuh finpugdwG pwnuwghnp,
e-0 [pugnighy WtonipymG t (1...2 duf):

Uwlpwynp $ptiqGtnh wpnwphl mpudwghon, 0,5...6 Jf pwyny wuw-
pnipwyGtph Gyuydwl hwiwp mumwbiynd £ 10...100 g vwhdwlnid:

Uwlpwynp ptigh mpwiwqoh plupdwl dudwlwly wbwp b hwpyp
wn(ty, np pptigh mpuiwghop dhowglbhu Gpu onujudl quunpbGtph wpn-
dhih 2tnuonipnilp dywlyynn wwpnmpwyh ypndhih hwitdwnm wédmd k,
nnp pwgwuwpwnp b owgnnud Quiiwl Gumpjul Jpw: Uwlujl dptgh
wnpwiwghop dhowglbn nhypnid dtowlnmd L gnpohph L hwpdwpwlph
Unpunnipjnilp, b vwhnG wwpnipuudptiqipdwl hwiwp vntnoymd GG
puptiyuwum yujiwbihn:

‘UtipphG wuwpnipuyGtph dyuydwl hwiwp Gwwmtujwo pphqlbph
nnpwiwghop ytpgymu L dpwlynn wlgph wmpwiwqoh 0,85...0,9 dwuhg ny
wytih:

Jhpgynud £ wlgph mpwiwqoh wjlwhuh swih, np dywliwb plipwug-
pnd nmwunwlnmibGtpp Jubhuytl, hwyyh welGting wjl hwlqudwlpp, np
$ntiqp yuipmd £ wwpnipuyp’ nng tpjupnipjudp:

dptigh tpywnpnipyniGp hw)yymu k.

I=1; +(2..3) pi, (6.24)
npntn’ /; -p Qyuynn wunpnipuyh tpunpnpyniGa t,
i -6° wwpmpuyh dnunptph phdp:
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dptigh tpupnipymn sytnp t gbpuqubgh 100 du-hG: Apwbhg Gplup
dntiqGtiph vnun oipdwiywyiwl duiwlwly hGwpwynp GG ywpnipwyh wypn-
dhih wwpwitmptinh qquih 2tnnudGtp: Mupnipuih shwdwiwbwljw dyw-
ynuiG wipnn9 tplupnipjudp hpwgnpobtnt hwdwp bptigh tplupmp nilp
2...3 pwyny whwp £ uko (hGh dpwlhynn yupnipulyh Gpunpnipynilhg:
bpigh wnwiGtph pyh hwpquwpyiwl dudwlwl wytwump L wuywhnyby
vwhnm G pptqipiwlG ywjdwlp, wyl £ hydwl dbe wtwp b qunlytl wn-
Guql tpynt wnwd: <ydwl db9 qulynn wpuwwnwlipwihG wnwdlGbph
phup hwpdymd t z =y/e puwGwdling, npuntin’ € =360°/z-p wllyniGwjhG puyG
E, z-n" wnwiGtph phyn:

Lwhuwwwwn-
pwunywoép

LY. 6.16. UnwdGhph pyh npnynudip

Unpunuwphl dyulpiwl dudwlwl huyydwb ¢ wilynilGp npnpymyd £ pun GY.
6.16-h.

sV oq oo (6.25)
2 d(0,5d +r)
npntn’ d-G $ptigh wpmwphl mpudwghod k,
7o -0 Gwuwywwnpwumywoph wpmwphl Junwyhnp,
71 -n GbpphG wnwhnp:
‘LtipphG Gywliwl dwudwlwly hypdwb ¢ whlyniGp npnpynid L.

4 - (6.26)

cos—=1-—
2 d(r, —0,5d)
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Lywo pwlwdlbpny hwpytijhu b wywhnybny wjl wuwjdwbp, np
wfuwwmwlph dtke whwmp L qunlytl wnljuqb tpynt wnwd, ptigh wnwd-
(Gtph pwlwyp vnwgymd £ pwjwlwlhG dto, npp gnpolGwlwlnd hGwpuw-
Unp sk phpwgnpoty wwnmwdGhph thnpp wylnipjul wumdwnny: Uuwop
Jtpwptipnd £, hwnjwwtu, thnpp pwjiny wywpnipwyh dyuydwl hwdwnp
(wfuwmbugwo dptqltphl: Cunm Yyapnhp2jwih wihpuwdtym b pGunpt; thnpp
pwlwlyh wnwiltp, hwpyh swnltinyg vwhnl pptqtindwl ywjiwlih wuyw-
hnynidp:

Guwhijwo dptigh wpnwphlG mpwiwgqohg” wnwdbtnh phyp npnpynid &
htimlywy Yhpy.

z=(16..18)Vd : (6.27)

Uwnmwih thnuhyp, unynpupwn, Ytpgynid £ nppwl hGupwynp £ quyG,
wjlpw, hGspwl pnij GG mwihu wnwdh jwjlnmpjniln b pewlwjhl pwjip:
®nuhyh qwjlnipynilp wnwdp onopwlynn Yuwphsh b wpndphip hnynn hnljw-
pwph tph hwdwp whwnp £ wywhnyh pujupwp owdwy:

Unynpwpwp thnuhyh w6yymbp gtpgynd £ 6 =30...45° uvwhdwlnud,
(wyGnipyniln’ 0,35...0,4 ypowlwyhl pwjh suthny, hull hhipnd Yinpugdw
ownuwypnp 1,5...4,0 dd uvwhdwlnud:

Mbwp L Ytipglby onopuyiwl walyiwb wjlwhuh £ swth, np wuyywhnyyh
pwywpuwp htinmhG w6lyyn wwnwih ququph L wwpnipuyh YnnuyhG
Jwubtipmy: U6 dko ytipglGtint nhypnid onopwlnn gnpdhph Giph wuwjdwln
Juuwlnmd t: Unwidh ypndhih ququph b ynnuyghl dwubtipnud htnhG
wGlynilp npnpynid | hinbywy pwGudbbtpny.

kz d . &
tga. =— U tga,, =—tgasin_, (6.28)
npuntn’ d-G dptigh wpmwphl mpuwdwqhod k,
d; -G hwpgupyujhG Ytwmh wmpwdwghol b, hul &2-p° ywpnipuyh

wnnphih wilywG Yhup:

d = 15..90 Ju mpwdwqony dptiqGtph hwdwp onopwliwl & swihp
Jtpgymuu £ 1,25...3 df uwhdwlnid:

Jdbupn Gwo k-h wpdtiplbpnG wywhnynd 66 ququph dwuntd htnhG
wllywl dtompjul wpdbp 8...10°, hull YnnuyhG dwund 4...5° uwhdw-
(Gtpnud, npp pwywpuwp E jupdwb gnpoplpwgh hpwywlwgiwl hwdwn:
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dptiqp upynid £ wnolih Ghuwny, Ly wllyjwl wpdtpn ytipgynid £ Jufu-
Jwo Wywlynn Gniphg. ynlGdh hwdwdniywopltph, pnigtiph L Yunponp wnn-
wwuwlbtph hwdwp' y =0°, thohlG Yupopnipjwl wnnuuwnbtnh hwdwp' y = 5°
L pipl hwdwanywopbtiph L thwithnyy ynnuuwmGtph hwdwp' y = 10...15°:

Uunmgynud 66 wnglh Ghuwh ypwgh wwpnipuyh wnnhih swihbpp:
6np ¥ =0°, wpnwphG wuwpnpuyGph hwdwp $ptgh qriuhlh pupdpmpjnlp
Juqunud t # = 0,288p, nnhyh pwpépmpyniln’ = 0,325p: Qfuhyh pwpaé-
ppjwl poyumywopn uwhdiwlynd £ hwpyh welbny wuwunpwumdw i
ufuwjwlpp b dwpdwl hwdwp Gwuwwntujuwo yuwpwph swihp: Gpp wnolh
wlyyniGp’ y > 0°, yuunwpynd £ wnelh Ghunh Yypwgh wypndphth 62qpunid
(GY. 6.17):

LY. 6.17. Apuljul wnglh
wlyniling dpbigh wwpnipwyp
wnnphih npnpnudp

Ung9ljh Ghumh Yypwyh qiupyh pupdpnipjnilp npnpynmd k.

. 2
£ =0,5d cosy —(0,5d —t,).[1—| 22457 | | (6.29)
0,5d —¢,

Nupyh pupbpmpniGp ¢, = ¢ —¢';, nptin ¢'-p° wnelh Ghunh Ypwjh
wpnbhth nhy pwpdpnipynGa t (6.31).

. 2
'=0,5d cosy —(0,5d —1)|[1 - Osdsiny |, (6.30)
0,5d —t
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Unolh Ghuwnp Yypwjh wpnpphth walynilp npnpyma k (3.32).
g t, ¢
tgilzftgf, (6.31)

nputin €,/ 2 -p° G2qpunjud ypndhih wiyywl Yhul b, huly ¢ =4 + 6:
Uyuwnwlph gnpoplpwgnid mwwmwlnidbGhpp thnppugiwl Guunw-
Uny punphnipp £ wupymd  dptigh mwpbnujhl winulGtpp wywwmpwuwmby
o = 5...10° wGyul nmwy pipywo:
UjuwjunwuwjhG $pkqGbp: NMwpnipuudywiiwl ujuyunwlwjhl
dntiqGtinp (GY. 6.18) Gwhiwwmbudwd Gl vhO wmpwiwqony utnuiwdl ww-
poipuyGhph Yywydwb hwdiwn:

Ul 6.18. Muwpmpuljuwdywldwb
ujuyunwlujhG dptiq

Npwbtu Ju6nG, pptigh wnwdltpp yuwumpwunynd GG nunuqowjhG
Jupnn tqptipny, nph hwdwp npulg unnigquwopwjhlG mwpptpp hwpgunpy-
ynud GG wjluybu, hGyuybu upumwy pphqltinhGp, L npp hGwpwynpnipyniG k
wmwihu Gwhuwqot] puquuumwyd Sptqltp (30...40 hww) L wywhnyby Ynnu-
jhG Yupnn Ggpph Yypw GuuumwyuwihG htnpl wilymGatp® 5...8° wpdtip-
Gtpny: Ujyu ppbqltipng wpuwmtbihu, jupiwl pGpugpmd, hydwl vty ta
quiynd wnlGjuql tpynt wnwy, npny wwywhnyynud £ vwhmG pptgtipdwl
wwjiwln L dpuyiwb hwiwp ywhwoynn dwpnpnipjnilp:

33



Uju niypmd funphnipn sh mpynud Yhpwnet) onopwiuwo wnwdGhnny
dntiq, pwlGh np vwhdwlwthwlynid £ dGo pyny wnmwiGlph pGunpmpnilp,
huy wunwiGtnh ytpwupniihg httnn pptigh wpmwphl mpuwiwghon qquihn-
ptl thnppwnd £, npl6 wgnmd £ dQwlynn wuwpnipwih §aunipjul b dwlb-
nlnyph dwppnipjwl Yypw:

dbptigh wnwilbpp Gwhiwqoymd 6 wjlwbu, np hpwp hwonpnnn
wwnwdlbph YnnuyhlG Yupnn Ggptipp quGyt6 mwpptp Ynnibpmd, wjuhGpG
Gpw jmpupwlsnip wnwyd nibGh sty ynnuwyhG Yupnn bgqp: Mpondph unnig-
dwl Gywunwyny $ptigh ypw Gwpwnmbiugmd L dh iphy wnwd tpyne ynqwyhG
Yunpnn tqptipny: Uty YnnquyhG Yupnn Ggpny wfuwwmnn wwnwdh ypw hwlynng
2tipmh hwunnmpyniGG wyn tqph Yypw YpyGwwyuwumyymd b, wjuhlpG GnyG
swthny £ thnppwlnd L mbuwupwnp ndp, b dbowlmyd gnpohph JuyniGni-
pjnilp: Mwpnipwyh thnuhyh wynwip (phy hpwuwiwglbm Guuwnwyny
$ntigh wnwdh ququph Yupnn bgph Gplupnipymbp Jhpgymd t nuhlh
hhiph pwjlnipjul Ytuhg wybih (hpwp hwonpnnn wwnwdGhph  ququph
Yupnn tqptinG hpwp owoymd LG):

Utnutwdl wypndbhiny wyuwpnipuyltiph dQwiiwl hwdwp $ptqlhph
wnpunuwphl wpwdwaghop pGupymd £ 60...180 4uf , jwyGnipyniGp’ 10...40 Juf
uwhdwGGtpniy:

6.5 NMupmpuliwgnunGuljiu il gnpohpGh

MuwpnpwyGtph duwynuip gpuluwlydwl tnuiwyng wnwownbl tnu-
GwyGtphg vtya £: U6 dto mwpwond £ quby junpnp ubiphwwub L quig-
Jwowjhl wpumwnpnipjwl dte” pGnphhy pwpép wpunwnpnpuuwbnipjul
wywhnyiwb: Gupiwl tnubwyngy ywpnipwlyitph vnwgiwl hwdtdwnm
gnunlwliw tnuwbwy nGh htnlyw) wnwybtynmpniGatpp.

w) dtwmwnh wpunwphlG dwytplnipuwhl 2tpmh bhghuw-dtluwGhyw-
Juwl hwnynmpjniGltph pwptjuymy, pwlh np dwytpunyph dwjuynthywo-
ph wpyniGpnd wupmpwyh hngGwowjhl wipnmpmlp pwpdpwlnd k
(20...40%),

p) dtnnwunh wnlmbunmd 10...30%-ny, pwlh np Gwjuwywmpuunywoph
npwiwghdp unwgynn wwpnipuyh wpudwgedhg wytih thopp £, L wuw-
pnipuyp dlwynpynmid L oypuunmply ghpnpiwghugh wpynilpnd, wnwlg
nwptnugnjugiwd,
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q) wupnpuyh dwybplnygph dQumnipynilp L Jwppnipynilip hwdwujw-
nwufuwlnyd GG hnuw6 gnponnnipjwin,

1) wpunwnpnpuiuwbnipjnilp, mwpnuhwiiwdp yupnipuyh duwynp-
Jwl hwitkdwwm, mwuGwwwwnhy wiqud pwupdp k:

Gnunlwliwb dwdwlwly Jwnwynujhl o nidiph wantgnipjul wnwly,
qnpohph wwpnpuwyh qupupltpp Gwuwywnpuunywoph Gmpp Gipwp-
ynud Gl wjwumhy nidnpiwghwjh, nph wpnyniGpnid Gpw Yypw dlwynpynid
wupnipwln: Upwldwo dwytplnipwjhG ptpmb vnwgynmd £ wytih wdnip b
Junop, npp ywjiwlwynpgwo b Gpulnyg, np gpunbuyiwl dwdwliwly Gniph
phitinp s66 Yuapynid, hGywybu wjl mbtnh L niGhlnd jupnuing ywuwpnipwyh
unwgdwl dwdwlwy: Ottpp phdnpiwgynd GG hwiwdw)l ywpnipwyh
nipjuqoh:

Qapolwulnd ywpnipwlylitph gpunuiiwi hwiwp 6o Yhpwnni-
pyniG GG unwgh] hnlyw) mbuwyh gnpohpGtpn.

1) wupnpuuwgopuGuwydw G hnpnyuwyGbp,

2) wupnipuwuwgpuuydwl hwpp wpmwwwpnipwlhsGhp,

3) wunpnipuugpunluyiwi qifuhyltp: <upp wpnwwwpnipwyhyGaph
hwitidwwn hninuyGtpny yupnipuyGph vnwgndG wytjh yuunwpyuy k:
LnnulyGtpny ywpmpuwyGiph dbwydnpdwl dwudwlwly 660w nidG unwg-
ynud £ wybih thnpp, npp hGupuynpnipjniG L wmwihu dlwynpl] wupnipuy
puwpwl wwwnbtpny (wjuwwwnmpwumywoplbph, hGywtu Gwb wytih uponp
Gymphg (HRC 35...40) wuwumpwunmywd Gwjuwwyuwumpuwunywoplitiph ypu:

Lninjuyh Yypw wuwpnipuy vnwgynd b Gub hnydw6 dhongny, npl
wwwhnynud £ gpubuyynn wwpnipwih wytih dko Gpumnipynil (5...6 Yywip-
wmbtwn) L Wwlynn dwybplnyph pupép Ywppmpymb (R,=1,25...0,32 dfju):
LnnulyGph mbinuuyniG wybh wuwng £, jupquynpnudp’ nyniphG:

Qnpohph wmbuwyh pGunpnipynGp yuugwso L yupmpuyh mtuwlyhg, sw-
thtiphg L 6pmnipjniGhg, Gwuwwywumpuunywoph tpupnipjniGhg L Gynphg:

Ginp hmyngwGGpny yupmpuyGtinh qpulwynidip hwdwpynmd £ hw-
dwyhunwlh tnubwybtpnhg vtyp, npd wywhnynd £ pwpép GQunipjnil L
niGh wmbfulGnnghwywi jwjG hGwpuynpnipyniGatp: {nnduyGtpny qpunlw-
Unuip hGwpwynp £ hpwuwlwglby mwppbp vfutdwltpny hnpngwylGbph
wnwynuwjhl mynmpjudp dwnmgiwl pwupdniny, Gwfuwyuwumpuumywoph
npwithnnh ninnipjwip dwnnigiw( pwnpdnuwiny, Gwuwwywnpuunyuwoph
wnwlgpwjhl dwnnigdwl pupdnuiny:

35



S d dho T D:jﬁg

Uli. 6.19. Gnp hnpnjulytpny wwpnipwlh

dLlwynpdwl vfubidw b
Cwnwynuyhl dwunnigniny wywpnipuwyh qpubulyiwl ulqpnilpp hb-
wlguyG E: 1 U 2 hnnyuyGhpp (GY. 6.19) hwdwswihnptG yumwpmd GG dhu-
(ny0 mnnnipjudp yunuwlwl pwpdnd” Gnyl ppewlwjhlG wpwgnipjudp,
unw iy G0 punwynujhl nunnnipjudp dwnnignid b unhwnid Guwjfuwuwuwmn-
puunywophG’ wuwmybnt wnwlg uwhph: Lwutwwywnpuunywoph wnwlg-
pn wbinwlwjyynud £ hnpnduiyGiph wnwlgphg 0,2...0,3 duf guon, qpunlGuliwb
nGpwgpnit Gpw' nhiwyh Ybp gnipu hpdbp puguntim Guuwmuyny: Lwjuw-
wuwwnpwunywopp mtnuyujyynd t 4 htGuyuwjpl pwlnGh Yypw, nph wuw-
nwlpwihl dwybplnypp, dw)gwownhiwgyninipjul pupbpugiwb Guyw-

nwyny, ywunpwuwmynd £ jupop hwdwanipjwoph phptinhyhg:
‘Luwnwyuwunpuunywoph Ypw wupnipuwih dbwynpiwl wjwpunhg
htimn jwnwynujhl nnnmpjudp dwnmgdwl Jwpdmip npunuwpmyd B, L
hnnJuwGpn qwpniGuynd 66 yunnyb: Uju ppugpnmd juumwpynid L wyw-
pnipuyh mpwdwsuthnmip, nph Guwwwyl b pwpépwglt] dwibtplngpp
dwppnipnilp b wwpnipwyh dwytploipwihl ptpmp Gepwnpyly fugdw:
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GpunGuyynn wwupnipuyh Yypw tpynt hnpnguiyGtiph quyupGtph hwipGydwa
Guuwpuyny hnnyuwlGtipp wnwlgpwjhl mnnmipyudp ptnduo t6 0,5 puyny:
Gnunlwliwb uygpnid hnpnguwyGtph dthel hinwynpnipyniGp Juqund k.

L=d+0,5D,+0,5D,, (6.32)
huy wpuwwnwlpwjhG pGpwgphg htimn wyn hinwynpnipjniGp npnpynid k.
L' = dl + 0,5D1 + O,SDz B (633)

nputin’ D;n U D, n hnnjuyGiph mpuwdwqotpG ta,
dy -p Wwynn wwpnipwyh Gepphl wpuwdwghop:

Bhpw wwpnipwih vnwgdwl hpiGwiwl wyuwyjdwil wj@633p hnn-
Juyh L dywyynn wuwpnipuwyh pwpépugiwl wilyniGGhpp ytwp b hGkG
hwjwuwn' 7, = 7: U9 yupnipuih quunlwlidwl hwiwp hnpnduljp whwup &
wwwnpwuwnb] dwhn uwpnipuyny, puly dwju wupnmpwyh qpubGuydwl hw-
duwp hwijwnwip we ywpnipwyny:

MNupmpujugpunluliwi qnpopGpwugh puptjwydwd, qnpohph Yujnt-
(npjul pwpépwgiwl Guuuwliny wlhpwdtyn b dtowgllp hnnduyh
wpwiwghonp: Spwiwqoh thowgiwl nhypmd pupdpwlmy £ qnpohph wd-
pnpynilp b ynpunmpynilpn: Uwluw)l Gpu pGupnipynilp vwhiw Guthwynid
t hwuwnngh Junniggwopny L wwpnipuyh dnunptiph puny (i,):

<nnyulh dninptiph phyp npnpynid £ htimlbgwy wnGsnipjniGGtphg.

Pe | tgr=—P | (6.34)
uhg Ty
npntn’ 7, -G, p, -G, Dy, - hwiwywnwujuwlwpwp gnpohph ywwpnipwlh
pupdpwgiwl walynip, pwyp L hohlG mpuwiwghoG b, huly 7-G, p-G, dg.e-n’
dwlynn wwpnipuyhGp: {ujuuwpuglibng 7, = 7, npnpynud £ hnmjuyh
dnunptiph phup’ i = p,/p = D /d e b myG tingynid £ wnipnnowjuG: <wipyh
wnGtiny hninjuyph dnunptinh phyp, gpunlwynn hwunngh Junnigwopp L
Jwuwl pnnGywopn, npnpynid £ hnpnduijh dhohG wpwdwghop: ‘Lnp hn-
InJuyh dhohG wpwdwghop Yepwhnywo hnnjuyh wpwdwgdhg wyth
uto L, L qnpohph qowqnph Yypw wmpymd L Gpyne dthohG mpwiwgho™ Gnp L
dw2Jwo hnnjuwyGtinh hwdwn.
Dy, aop= Duipo. huspy AD g

tgr, =

Du"[ly. hpli = Dl)]}g.hwgtj - ADI)"]Jg 5
npntin” A ytpgymd £ pun hnpnuijh b yuwpnipuyh mpudwqoh, dtnunuyn-
puytu A =0,017...0,018:
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‘Lnp hnnyuwh wpurwphl mpuiwghop hwyyymd k.

Doy = Dogpo. gnp + 21, (3.36)
nputin’ 7;"-p hnpnjwiyh wwpmpwh gifupyh pupdpnipymGa t:

<nnulp qwyGnipyniGp yuqinmd £ L, =7+ (2...3)p, npntin /-p° dpwlynn
wuwnpnipwh GpupnipyniGa k:

‘Luwfuwyunpuunywoph  pnputhnnh mpmpjudp dwnnignuing - wwi-
pipuyh gpunGuydwl dwdwlwy hnnyuybtph dshownwlgpwjhG htnwynpnt-
pymGn (L) vGmy £ hwunwunmG, b Guuwyumpuumywopp Bwyiwb gmnp L
unpymud quunhgh oqlnipjudp (GY. 6.20w): 1 Guwfuwwyuumpuwunywopn 2 pnil-
Ytphg wnpynud £ wlplnhwwm wyumwnynn 3 quunpshl, npp mbtnuithnfunud £ GpuG
wyuwnwlpwjhG gnunp L, wuwpmpuwyh dluwgnpiwl wjwnpuhg htinn, htinwg-
(intd wyGuntinhg:

I

T d
\§

IS

1SS
===

P,

Ul. 6.20. NMwpnipuljugpubwliw i
tinuGwlyltpp
‘Lwhtwywunpwunywoph pnputhnnh mnnnipjudp dwwnmnignidny wuw-
pnipuwyh qpuGwynudip Yunpbih § hpwgnpoty Gul Gpynt hnpnduyGtph th-
ongny (GY. 6.20p), npnlp nGhG wmwpptip ppowluwyhlG wpuwgmpmGGtp” 7 L
V, , nln npmd” Vy# Vy:
2w Juptiih B wywhnytp httmlgwy éuny: Gpp Dy = D, ny # np Jud, tpp
ny =ny Dy# Ds:
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‘Luwuwywunpuunywdph  wnwlgpwjhl dwwumnmgniing  wuwpnipulibph
gqnunluynuip Yhpunynd b tpyup Gwiwyuwwmpuwunywopltph ypu ww-
pnipulyGiph dlwynpiwG dwdwGuy (GY. 3.20q): Unwlgpwjhl dwwnnignib
hpwagnpoynid £ gpunlGuyiwl nidh wnwlgpwjpl pwnunphsh hwpyhG, npG
wnwow iy L hnnjuybtiph wowlgpltiph fuwsiwl htnlwlpny: Unwlg-
pwyhl dwwnnigdwl wpwgnipyniGp Juqund £ 9000 du/pnwys: <npnduyGhpp
Junpnn GG 1hGh yununwuwihG jud onuiuwdl wynuGbpny: dbpohlu Yuw-
ptith £ oquuwgnpot] we L dwfu yuwpnipuwyGtiph dywydwl hwdiwp:

Swpp wuwpmmulpugunGudw i wmmuwwpnyuulisGepp junnigywo-
pwjhl wmtuwytinhg wupgq GG, ogqmugnpoiwl wnniny hwdwwhunwbh: Uju
wpunwwwpmpwyhsGipp 60 wywhnynd gpunuyuwe wqupmpwyh hwu-
nwwnntli mpuwdwaghon, nph hwdwp £ npulp oquawugnpdynid Gl htnnijulinh,
wunninwyGtph ypw ywpnipuwylph ©ujiwl hwdwp: 9nyq pyny qpunbuy-
(tpny wwpmpuyh gpubGuyiwb viutdw6 pipdwo t GY. 6.21-nud:

L,

D,
D,
s - 0 3 R
g T F TR\ \ 2
e <o Sl =
7
7
1 1, ],
L,
N &
————
:\\
Ul. 6.21. Lwpp wpnwwwpnipuyhyn] wwpnipulh
dLwynpiw b vjubdw b

I hwpp wpnmwwywpnipuyhsG wlywnpd t, huly yynwp' 3-p, juunwpnd L
htunplpug-wnwonlpwg wpdnmy: Lwhiwwwwmpuwunywopp, payatmny wyp-
fuwwmnwbpwjhl qnnh, ppGymd L wpnmwwywpnpulhsGtph ynnihg L gnpynd
qnpohph wiipnng tpljupmpyudp: GHfuwynp wupdiwb dwdwwy (D,) /; nb-
nuiwunyd Juunwpymd k3 Guuwyuwnpuwunyuwoph ypuw wupnipuwyh dlw-
Unpnudp, huy L wmbnuiwund” ywpnipuih npuodwswthndp: Odwlnuy
updiwi (D,y) Yytpenid hphsh dhongny qpunGujiwG qnnp k. wmpynid hwonpn
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(whwwywmpuwunywopnp, nph wnwlgpp whwp L niqnwhwjwg 1hGh qniyq
wnpunwwwnpnipuwyhsGephG: UpnwwwpnipupyipG hpup Guundwdp nb-
nuywjynud Gl fjuhun qniquhtin, Wuwpnipuwih qujuplGbppn yuunpuunjwo b
(in1)G mnnnmpjudp, Gniy6 piptwl whlyuwb mwy L hpuwphg 2tnquo 0,5 pwyny:
Gpunlwliwl gnpoplpwgh dwiwlwl wpnwwwpnipuyhsGtnh thol htinw-
UnpnipjniGp hwywuwn £ gpuGuynn wuwpnipuyp GeppphG mpuwdwqoh:

Cwpdwlwl hwpp wpunwwwpnipwyhsh Gpupnipnilp npnpymd k
htinlyw Ytpw' L, =L, + (15...25) du, npntin L;-n° wGwnd wpnwujwpnipw-
Uhsh tpyupnipynGa £ (3.38): Ly -h L L, -h wjuyghuh mwppbpnipniG6 wwyw-
hnymd £ wplvwwnwlpuwjhl pupdiwl wjwpmhl wiywnd wpmwwwnpnipw-
Uhshg (wuwwwwmpwumywoph nnipu Ghumndp.

Li=lL+hL+15=(5.8)ndy,, (6.37)
nputin’ /;-p pnniGhy dwuG t, L-p npudwswthnng dwup, -p° Ghnnn dwup:

ClnniGhy dwup Juuwpmd L wwpnpuwyh dbwygnpiwl hhiGwlwh
w2 fuwwnwlpp, wyl whwp L wywhnyh ywpnipuwih pujwpwnp 6umnipjnilp
L qnpohph YuyniGnpyniGp b yuwqima t 4, = i = 3..4)wd g Lwuwyun-
puunyuwopp [phy plngpyim Gwwwwyny plnnilhy mnuiweh o swp
hwyyymd t' a=(d;— d;)/2 + x pwlGwdlny, npubin x-p, juhujwod yupnipuyp
pwyihg (3...24), yipgymu £ 0,07...0,2 4, d;-G Gufuwyumpuumywoph mpw-
dwqhod t:

Spwiwswthnn dwup 5 = (2...3) 72d g, tpupnipjudp Jumwpmd b yw-
poipuwyh yepeGuyub dLwynpnuip: Upnwwwpnipuyhsh B qwylnipyniln
npnynd B ufuwo Gywlpdnn wwpnmpwyh 7, tpupmpyniGhg, uwljul ng
wytith 70 d¥~hg: Upnwwwpnipwlihsh oquugnpoiwl dwdytnh YpylGw-
wuwwndwl Guuumuyny Gpw qujlmpniip dhowgymu k htimbyw wywjdwbh
pwyjwpwpuwdiwl hwdwnp.

B=2I,+2.3)p: (6.38)

Upnwuywnpnipuyhsh hwunmnipynilp yepgymd £ hwpgh welhny Gpu
JtpwuwlqGiwl hGupwynpmpmniGp’” H, = H, = 5..50 Jif {niuwh wipwg-
dwl Guuunwlyny wpnwywpnipuyhsh dwjwnwihl dwubpp ywnpuwuwn-
UYnud GG 85° plipnipjwdp:

Nupmpuuluemnbuidwl qifupllhpn 1hGnmd &6 hwjwpnyh Junmg-
quwopny pwgynn L pugynn: Gfuhyh dby wbnunpnjuo hnnduylbpp
wununymd Gl hptlg wnwlgph nipon L phipJwdo Gl 7 wbGljwl wnwl, npp
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hwjywuwp b wwpnipwyh pwpépugdwl wilyywln: Qpwgynn qifuhybtipny
Wywlbihu wwpnipuyh dlwynpnidhg htnn qnpohpp tun £ ypununygnid: {ngn-
JulGbtpp dwjwwumwjhG Ynnihg nGtl YnGwluwl dwu, npny plngpynid GG
Gwhwwywunpwunywophb: <nnyuylbpp wbnunpynid 66 qjfupyh ko
2tnJwo, wwpnipwyh pwyjh /2 swihny, npuntn #z-p hninduwyGeph phyG t:

Uytih uko YhpwnnipynG mGEG hGpGwpwgynn qifuplGlpp: Mwpnipw-
Jugpunlwyiwl ytpend hnnjuwlyltpp htnwlnd 66, (wjuwwwwmpuwuwm-
Jwopl wquuymd k, L qfupy wpwq Yhpwyny yhpwnunind t Gpdwb nhpp:

Gnunlwlynn wupnipwyh 62unipjwl L npuyh ypw vt wanbgnipjnil
niGh Gwhiwyuwunpuwunyuwoph mpudwqowhG swthn: UG swthhg dko Ytpg-
(bt nypnid YWiwumhy nidnpiwghwjh httmlwlipny wpwowgud vhmwnh
wytgniuyhl qubquon sh wbnuynpynud gnpdhph quijwplph dhol L
wnwy L ptipnd (wuwwywwunpwunywoph ywpnipuwyh ptnnud, hGswybu Gul
qnpohph quiupltph topnud: Lwrtwwywwmpuwunywoph npudiwqdh plwn-
pnipjwl Jpw wqnmd GG wwpmpuyh wpodhih swihbpp, dwidnn Gniph
wbuwyp L JunniguwopwjhG Jhdwlyn: Lwhiwywwnpwunywoph npwdiw-
qhon hwpyynid & htmlywy pwlGwdlny.

d, =:/0,5(d; +d}): (6.39)
Utinpwlwl wupnpwliiph hwiwp wnwowpyynid £
d, =05d; +d? —0,2109p> . (6.40)

npuntin’ dp -6 qupnipuyh wpmwphG mpudwqhoG k,
dy- 1 wwpnipuyh GepphG mpudwghop,
-G wupnipwyh puyip:
‘Luwnwyuwunpuunywoph mpwdwqoh pnyunywopn Yytpgymi b wuw-
nnipwh ShohG mpwiwqoh pnyypumywoph 0,5...0,25 twuphl hwjwuwn:

6.6 Muwpnipuwljuirwldwd g Gt

Mupnipujuipwliwl qifuhlitnG oquuagnpoynid GG wpmwphl gu-
Guywl L ynGuwyuwl yupnipuyGtph Qwldwl hwdwnp: 9qfuhyGhpp, Yinp
wnunuwwwpnipuyhsGtph hwdtidwn, niGhl dh pupp bwjwl wnwytjnpniG-
Gtp, npnlghg GG

w) qifupyh Junonigqwopp hGwpwynpnipjnil £ wmwihu vwlpbtpph thn-
thnfudw( dhongny dwll mwppbp mpuwiwqotph b pwjitinh wwpnipwyGbp,
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dhwdwdwlwly Ywpquynply vwlptph dhol tnuo htnwynpnipjmbp, wju-
hGpG" jupquynpt dywlynn wwpnipwyh dhohG mpudwghop,

P) qifuhyp sh wwhwGonid nupdwhnfunid, npp Ypdwwnnd £ wyupnt-
pwyh Gwydwb ghyp,

q) vwlph quupGtph wpndpip htpwm t GGpwupyymy hnyuwa, hul vwi-
nbpp Yuptih Eywunpwunt] wpuquhwnm ynnuuunhg b upt] puqiwyh wi-
quuiltn:

NMupnipuiuiywiiwb qupylbpp pwdwlymd GG tpynt hhiGwlywd
fudptiph” hGpGwpwgynn L jupguynpynn:

NMupnipuuiywiiwl hGpGwpwgynn qiuph  wnwGdGwhwwmyne-
pynGG wyl £, np wwpmpwyh dQuydwl wjwpwnmhg htimn uwlptpp htinw-
(md 6 uiywo Gwuwywunpuwunywophg, b gnpohpp Ybpwnunimy L
tpdw6 nhpp, wjuhlpG wjl Gt yunwutint wlihpwdt)ummpinii sh wnwow-
(nmd, nph wpryniGpnid pwpépuwlnmy L yupnipuyp sQuyjiwl wpumwnpnnu-
Julnipjnilp (Ypdwwmynd £ odwlnuly dwdwGuyp):

NMupnipujuiywiiwl jupquynpynn qiupyh Junngwopp wwwhn-
ynud L dhwyl vwlptiph wipwgnuip b npwlg Jupquynpnuip, huy uwlptph
Jwnwynujhl nipnmipjudp wbtnupwnd sh Gwhiwnbugmd: <piGulwlnd
nwnpwdywo bl wnwohb fudph qifuhyGtpn:

Ul 6.22. NMupnmpuliwiywliwi qifupllitph mbuwybtpp.
w) pwrwynujhl nuuwynpjuwd hwpp uwbptpny,
p) mubglilGghw) nuuwynpywo hwpp uwlptpny,
q) 2wnuwynuyhG nuuwynpwo Ynp vwlptpny

Guwjujwo vwlptph yunnigwophg b uwptiph nuuwynpnipjnilihg’ gn-
JmpniG niGh pGpGwpwgynn qifuhyGhph tiptip mbuwy (GY. 6.22).
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w) 2wnwynujhl nuuwynpjwo hwpp vwlptpny gfuhyGbp,

p)  wwlqtlghw) nuuwynpwd hwpp uwlpbpny  gifuhlylbp, q)
2wnwynujhG nuwuwynpgwd Yinp vwlpbpny gfuhylp:

Lwipp uvwbpbpny (GY. 6.22w) qiuhyGbpp Wuwnpwundwl wenidng wytijh
wuwpq GG, vwywylG Gpuw uwwlptpp d6o0 pyny upnuiGtip 66 wuwwhnynud:
Swlqtilghw) nuuwynpwo (GY. 6.22p) hwupp vwlptpny qifupyGtpp, 2Gnphpy
vwlpbtph Gwlwlwh tpiuwpnpjuwl, wwywhnymd G0 uvwlptph pwqiwyh
upnuiGip, vwwyl npubp Lu ghond GG Ynp vwlptpny (GY. 6.22p) qifuhy-
(GtphG, npnlp wywhnynud GG vwlptph” hGuwpuwynphGu d6o pyny upmiGbip:

<wnp uwbpbtpp (hGnd GG tpbp nbtuwyh’ ninnuqowjhG, ninnighyy L qn-
quynp (GY. 6.23w): {wjwpwonth vk dwlnn jmpwpwlsnip uwlp hp
htiGwytnwyhG hwppnipjul Guundwdp ptndud b p/z suthny, npubn p-G°
wuwpnipwyh pwyil t, z-p" hwjwpwonih vwGptinh phyp: Munnunwjh qupwip-
GtnG niGLG pipdwC 7wy tg T = p/nd:

Clnphpy phptiGg wbfuGnnghwywlnipjul wnwyt] wwpwoyuo GG
ninnighl dwybtplnypny onopwygwo vwlpbppn: Uwlptpp qiiuphyh dt9 wnbi-
nuiwjyynd GG updtnphy hptilg wowlgph Guwumdiwdp, nph Wwwmdwnny
Yupnn Ggptipp Qyuynn Gwhiwwywunpwunyjwoph wnwlgph Guwmdiwdp pbin-
Jwo bl A<B/2 yuuthny pwpdp (GY. 6.23p): Fpw 2Gnphhy ondpwyywd dw-

iafealiun

g

B/2

_S\I _9(\ 7 "m

p)

Ul 6.23. Mphqiwwhl uwn.
w) mbuwllGbpp,
) bplpwswihwluwl ywpuwdbnpbpp




ytplnypn m = h —k pupdpnipjul Ypw huyyynid £ yupnipuyh GepphG dwyb-
plnyphb b mpuwdwswthmd wypndhin wyl ubndibing A swthny: Uwlnph plnni-
Ghsy YynGh ¢ wGlyyniGp thGmd £ 15°, 20°, 30°, 45°: CGnniGhy YnGh Gpyw-
pnipjwl Yypw wnolh whlyyniGp thnthnfuymy k:

Minnuqgpho b ninnighy ondpuwyywo dwybtplnypny vwlptiph Yytpupnd-
Gtpp yuumwpynd 66 pGnniGhy YnGh mbnudwuny, b junwpymd £ dhw)G
wnolh dwytplnyyph dwppnud: dhpwupnudGiph vwhdwlp uwlph pwnpd-
pnipjudp sybwmp b ghipwqugh m swthp: Gnquynp dwytplngpny ono-
npuygwo vwlptpp upymd GG wnolh dwytipnlnypny:

bpGwpwgynn, Ymnp vwlptpny ywpnpwlwhwiiwl qiupybtpp 1h-
(ind &G tpbp mbuwyh.

w) suyyunuynn’ fuwnwwnmwjhl b nupdniyuyhG hwunngGtph Ypw wyupnt-
pwyGtph G2uydwl hwdwp,

p) wuunyny wywmniwwm, qujhynGiwi L htnniyuwdpwlynn hwuwnng-
Gtph ypw wwpnipwlyGtph Bywiiwb hwdwn,

q) swyuunynn wymniwwn hwunngGbnp Yypw yupnipuyGtph Gyuydw6
hwdwp:

bpGupwgynn, Ynp vwbptipny syyununynn mtuwlyh wywpnipuljwhw-
dwl qifuhh yunnigwopn pipqwo b QY. 6.24-nud:

Gqfupyb nGh onuiwdl wynubGtpny pyny snpu vwlpbp (1)° wipugyuo
hwwunntl 3 ponilgpGtiph Yypw' 2 yunmnwlGhpny: Utininn 4 onuyh oqlini-
pjudp npulp Jupnn GG wbnuthnfuyty JunwynuyhG ninnnipjudp (Wnnk-
Guwy YtGupnGhG Yuwd htnwlwy YulGupnGhg): Gpp 4 onulyn wnwlgpwjhG
ninnipjwdp Juumwpnd E wowonplpwg Jwpdnud, 3 pnniGgpGhph Yypw wp-
Jwo ptutinh 2Gnphhy npubp dnntilind GG YaGupnGhG L wywpnipuwyh dpwly-
dwl ytpomu htnwlnd YaGupnGhg: ‘LY. 6.24-md quhyp uwumytpjwo L
thwy Jhdwlnd: Gpp hwunngh GGpwlhpp Julq £ wnlnud, Gpuw htin dby-
wmtn Julq L wnlnmd Guwb qiuhyh 5 wyngwdwup: Uyn nghypnmd 6 uwlpw-
prGhyp pwpniGuynd £ wpdytp wnwe A pwgwlh swithny, ubndtny 7
quuulwlyhG 8 onuyh thongny, npl wipwgywo £ 9 yunnmumwylGbpny: Utin-
unn 4 onuyp Lu Juiq L wnGmy, pwGh np nbd £ wnlnmd ynywiwuh U nb-
nudwuhb: Uwptpp nhin pupmGuynd 66 ywpnipuyh Gwlnuip b vwbpuw-
pnlhsGhpp nnipu GG quihu 4 onuyhg: Gpp vwlpwpnGhsGipp penilgpGtinp
htinn YhwuhG nnipu GG quihu / sanhny, 3 peniGgpGtpp 10 quuuGuyGhph, 11

hphsGtph L 12 pnipwyGlph wqnbgnipjulG mwly hptlg Yypw wpjwo A phipni-
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Uly. 6.24. Unp vwlipbipny swyyunwunynn wuwpnipuljwhwi gifuhl

pjwl 2Gnphpy tun (nbwyp we) G hpmd utindnn onuyhG, L qjfuhyp pugymu k:
Gqupyp thwybmn hwdwp wlhpwdtynm L wyuwmby 13 ppGwyp L 4 onulp
ptinty uyqplGuwlywl nhpph: Uju pGpwugpnid pnnilgpltpp, uwhbing £ php
hwppnipjnilnyg, dnnblnd GG YuGupnGhl b qpuynd Gpdwl nhpp: Uwlpp
pnligph Ypw pwqujuynpynid L quulwywl Gnumh dshongny b wipwgynid
2 ywumnwyh oqlinipjwdp: Uwlnh L pnlgph dhol mbnulwyymu £ 15 tpy-
piny wunnuwhyp, nph wwnwdbtnh phyp nwppbp b pplGgph dhe dwling
wwnwdltinh z phyp, dtYny thnpp k uwlph dto dnlnn wnwibGbtph z; pyhg z,
=z +1:
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Gpt wunnuwlyh Guundwip peniligpp yunwumyh vhly wnwdny ghiuh we,
huy vwGnph Guundwdp’ by wnwdny nhiyh dwhe, wyw vwlph M wyuniunn
prGgph Guundwdp Jyuqih 1/zz;: OphGul 1K mbuwh yupnipuljwhw6-
dwl qifupyh hwdwnp (z = 19, z; = 20) wwniyywp Yyuqih M=1/z x 1/z; =
=1/19x1/20 = 1/380 (powlwqdh vwu): Uju tnuGuyny Jupquynpymd L
uw@ph Yupnn tiqph nhppp Gwjuwwywmpuumywoph wnwligph Giumdwdp:

Uwlptph wpumwphG mpuiwqoh npnpdwl dwdwlwl wytwump E hw)yh
wn(t] hbnlyw) yuwjdwGatpp

w) pwgywd qjfupyp vnn vwbpbpp sytwmp b wlgltG 4 onuyh wnp-
wnwphl mpuwiwqohg, npytugh sutiowlwl qfuhyh tgpugwhbtpp,

p) npnpwh pwjny vwbGpbph hwjwpwontG wtwmp L hGwpwynpnipynil
untinoh Ypwyt] wjn pwjny pninp mpuiwqotnh wwpnipuyGtip, npnGg hw-
dwn Gwhiwwmbuwo L wnyjwy gifuhyp’ thnthnjuting dhwjl vwlpbpn:

Uwlph uptwl whlyniGp mpynd E pnGgph wnwlgph Giuwndwdp, huly
nGnniGhy YnGh ¢ wGlynilp’ vwlph wnwlgph Guwmdwdp (GY. 6.25):
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Ul 6.25. UjujwnrwluwjhG vwlph tpypuwswthnpmbp

Unolh y whlyniGp mwnwGynd £ —5..+25° vwhdwGitpmy L juuguo
E dywlynn Gyniph Shghw-vtjuwlihyulul hwnynmpnGatphg:

<twnpl ¢ wilyynilp hnthnfuynid £ uwGph Yupnn Ggph wdpnne Gplw-
nnipjudp.

a=f(hg, 1, Dy, Ky T, A7, ¢): (6.41)

<twnhG whlynGGeph hwygupyuiwl dwdwlwy (7 whlyntp pujuluwiha
thnpp k) pnlgph wnwlgphl ninnuhwjwg hwunnypmyd vwlph hwwnngpp
Juptp t plgmlb npubtu ppowGwgho: Uwmpnn tqph nplk Yawnnd htnpl o;
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wyynilp npnptiynt hwdiwp wlhpwdt)m £ qult] vwlph wnwlgph G{wwnm-
dwdp wyn Yanh pwpdpnipnilp’ sing; = 2i/D;: Gwpnn tgph ptipiwG A wi-
GG wwywhnynud £ juupdwl ppwgpnid plnniGhy dwund ngpuijul htimhG
wlyynil, hu mpwiwswihnn dwund” guoyuwul htinhG whyyniG: Wyuwhuh
tnypwswthnp)nilp htipnwglnid L wpfuwmwbph plpwgpnid vwlntinh hip-
(wdqnuip, GJuqtglnd Yywlywo dwytplnyph dhypnwGhwppnipjniGGtpn,
uwuwjl dkowlmyd £ uvwlph htmpG dwytplngpny dwpdwl swihp: GquGw-
Yl yupmpulyGbpph Suyiwl dudwwly ytipgymd £ A4 =1°30"...7°:
Uwlynn wuwpnpwyh wewGgph Ghuwuidwdp vwlph fupnn Gqph nhp-
pp npmynid £ Ay swthny U A wGyymGny, pGn npmd” whwp b ybpgGt wyG-
whuh 2z pupdpnipniG, np wwywhnyyh vwGph pGnniGhy dwup bgpughG qui-
(wph Yypw gpuijul htnhG wiygniGp b mpudwswthnng dwumd qpoyujuG
whymG (GY. 6.25) hs = d/2sinAg5 npntin d-G° Qyulynn wwpnipwyh wpw-
dwqhod t:
UGYntGGEpp npnymd GG.
SinA;= sina s — sina, Dy /(d + D),
sina s = 2Kz /(d + Dy —2m), (6.42)
m=0,7P+0,2, Kys=Ky—Itgt:
6np A <3°-hg, appe=30"...1°, ipp 4 >3° -hg @, = 1°30'...2°30":
Muwpnmpuuwiwyiwl gnpoppugmy vwlph wnelh L htnmhG updwb
wiyymGatpp, yuugwo Gupuyuwwmpuwumywoph Gyuumdiwdp Yupnn tqph
qpuywd nhpphg, hinthnfugmd G6: Gnpiwb hpwlw y,, wnglh b ¢y, htinhG
wyynGGtpp npnpymd GGy, =y + A b @y, = a—A |, npntin sinA= +24/d
(«+» Gowlp Yyupgynd £ wyl nhwypmd, tpp Yuphsh ququpp Gufuwwuwm-
puunywoph YulGumpnGhg pwpan k, «—» Gpuln tpp YaGupnGhg guon b):
Uwlnph pGnhwGnip Gpupnipyniln’ /-p, npp juqijwo £ jupng L npw-
dwywthnn dwubinhg, ytipgymu b 7...8 qujuphg ny thnpp: CGnniGhy dwuh
pliptw G whlyniGp yuqind £ ¢ = 20°:
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